

Pay Estimate Created Date: December 1, 2020

Progress Estimate Number 20		Contract ID Prime Contractor	191018-D03 Emery Sapp & Sons,	Pay Period Start November Inc. Pay Period End December 1		Original Contract Amount Net Change Order Amount Current Contract Amount	
Approval Date							
December 2, 2020		Generated and Approved (and should be considered Draft) at the Project Office Level by					
December 3, 2020			Reviewed and Approve	ed (and should be considered Dr	aft) at the R	Resident Engineer Level by	grahac1
December 4, 2020		Reviewed and Approved at the Central Office Controllers Office Level by					
Original Completion Date		Current Cor	mpletion Date	Actual Completion Date	%	of Current Contract Amount	t Complete

Original Completion Date	Current Comp	pletion Date	Actual Completion Date	% of Current Contract Amount Complete	
December 1, 2021	December 1, 2021			67.37%	
Contract Informational	Dates		N	lilestones	

Contract informational Dates										
Date Description	Original Completion Date	Current Completion Date								
Acceptance Date										
Awarded Date	November 6, 2019	November 6, 2019								
Letting Date	October 18, 2019	October 18, 2019								
Notice to Proceed Date	February 3, 2020	February 3, 2020								
Open to Traffic Date										
Work Began Date	February 11, 2020	February 11, 2020								

Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days
Milestone - Completion Date - Admin Costs for J5P3181	December 1, 2021	December 1, 2021	363	
Milestone - Completion Date - RUC for J5P3181	December 1, 2021	December 1, 2021	363	

Contract Total Pay For Estimate No. 20										
		This Estimate	Previous	To Date						
191018-D03										
	Total Posted Items Pay	\$355,716.40	\$6,224,607.58	\$6,580,323.98						
	Gross Item Adjustments	(\$68,737.83)	\$104,652.10	\$35,914.27						
	Incentive	\$0.00	\$0.00	\$0.00						
	Disincentive	\$0.00	\$0.00	\$0.00						
	Liquidated Damage	\$0.00	\$0.00	\$0.00						
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00						
	-		\$6,329,259.68	\$6,616,238.25						
Contract Total Pa	avahlo This Estimato	\$286 978 57								

#### **Items Paid This Estimate Period**

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5P3181	0030	2022010	REMOVAL OF IMPROVEMENTS		\$130,500.000	0.3	\$39,150.00
	0800	2063000	CLASS 3 EXCAVATION	CUYD	\$10.500	37	\$388.50
	0110	2099905	MISC.GROUND IMPROVEMENTS	SQYD	\$100.000	143.37	\$14,337.00
	0350	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	CUYD	\$30.000	7.6	\$228.00
	0380	6096042	PLACING TYPE 2 ROCK DITCH LINER	CUYD	\$31.000	7.6	\$235.60
	0890	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	SQYD	\$5.000	31.5	\$157.50
	0980	7252005	CORRUGATED METALLIC-COATED STEEL PIPE-ARCH TYPE B-5	LF	\$84.000	53	\$4,452.00
	1180	7321005	B5 FLARED END SECTION	EA	\$670.000	2	\$1,340.00
	1240	8061005	ROCK DITCH CHECK	LF	\$10.850	48	\$520.80
	1310	8061019	SILT FENCE	LF	\$2.200	625	\$1,375.00
	2110	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	LF	\$59.000	184	\$10,856.00
	2250 7201000		MECHANICALLY STABILIZED EARTH WALL SYSTEMS		\$68.000	2,529	\$171,972.00
	2280	7201000	MECHANICALLY STABILIZED EARTH WALL SYSTEMS		\$68.000	1,628	\$110,704.00
Project J5P3	181 - Total						\$355,716.40

Revision 4/1/2020 Page 1 of 48



Pay Estimate Created Date: December 1, 2020

Progress Estimate Number 20 Contract ID 191018-D03 Pay Period Start November 16, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Net Change Order Amount \$56,273.20 Current Contract Amount \$9,767,650.75

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount	
Overall - Tota	Overall - Total							

#### **Contract Adjustments This Estimate**

No Contract Adjustments Exist on Contract

roject umber	Line No.	Item Description	Adjustment Type	Other Item Adjustment	Comments	Adjustment Quantity	Line Item Adjustment	Adjustment amount
illibei	INO.		туре	Type		Quantity	Unit Price	amount
P3181	0050	EMBANKMENT IN PLACE	Material			-76,938	\$6.60	(\$507,790.80
	0050	EMBANKMENT IN PLACE	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0005) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	76,938	\$6.60	\$507,790.80
	0060	COMPACTING EMBANKMENT	Material			-65,653.85	\$1.60	(\$105,046.16
	0060	COMPACTING EMBANKMENT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0006) due to user graesj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	65,653.85	\$1.60	\$105,046.16
	0070	COMPACTING IN CUT	Material			-12.55	\$773.00	(\$9,701.15
	0070	COMPACTING IN CUT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0007) due to user graesj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	12.55	\$773.00	\$9,701.15
	0100	INTERCEPTION DITCH	Material			-6.1	\$375.00	(\$2,287.50)
	0100	INTERCEPTION DITCH	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0008) due to user graesj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	6.1	\$375.00	\$2,287.50
	0160	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			-1,319.757	\$8.20	(\$10,822.01
	0160	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0009) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	1,319.757	\$8.20	\$10,822.01
	0250	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material			-1,228.7	\$80.00	(\$98,296.00)
	0250	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0010) due to user graesj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	1,228.7	\$80.00	\$98,296.00
	0260	CONCRETE APPROACH PAVEMENT	Material			-134.2	\$165.00	(\$22,143.00)
	0260	CONCRETE APPROACH PAVEMENT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0011) due to user graesj1 overridding Payment Estimate Exception 25 on the current Payment Estimate.	134.2	\$165.00	\$22,143.00
	0290	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	Material			-439.8	\$46.00	(\$20,230.80
	0290	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item	439.8	\$46.00	\$20,230.80

Revision 4/1/2020 Page 2 of 48



Pay Estimate Created Date: December 1, 2020

Progress Estimate Number 20 Contract ID 191018-D03 Pay Period Start November 16, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Net Change Order Amount Current Contract Amount \$9,765.075.075 Pay Period End December 1, 2020 Original Contract Amount \$9,765.075.075 Pay Period Start November 16, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End December 1, 2020 Original Contract Amount \$9,711,377.55 Pay Period End Original Contract Amount \$9,711,377.55 Pa

ect	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
81		S			Adjustment (0012) due to user graesj1 overridding Payment Estimate Exception 30 on the current Payment Estimate.			
	0300	CONCRETE GUTTER TYPE B	Material			-72	\$45.00	(\$3,240.00
	0300	CONCRETE GUTTER TYPE B	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0013) due to user graesj1 overridding Payment Estimate Exception 31 on the current Payment Estimate.	72	\$45.00	\$3,240.00
	0420	MISC.	Material			-476	\$50.00	(\$23,800.00
	0420	MISC.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.	476	\$50.00	\$23,800.00
	0430	MISC.	Material			-51	\$115.00	(\$5,865.00
	0430	MISC.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0015) due to user graesj1 overridding Payment Estimate Exception 34 on the current Payment Estimate.	51	\$115.00	\$5,865.00
	0840	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-32	\$6.75	(\$216.00
	0840	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	MaterialCredit			66	\$6.75	\$445.50
	1010	18 IN. PIPE GROUP A	Material			-112	\$51.00	(\$5,712.00
	1010	18 IN. PIPE GROUP A	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0021) due to user graesj1 overridding Payment Estimate Exception 41 on the current Payment Estimate.	112	\$51.00	\$5,712.00
	1120	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	Material			-2	\$440.00	(\$880.00
	1120	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0022) due to user graesj1 overridding Payment Estimate Exception 42 on the current Payment Estimate.	2	\$440.00	\$880.00
	1240	ROCK DITCH CHECK	Overrun			-21	\$10.85	(\$227.85
	1240	ROCK DITCH CHECK	Overrun			-27	\$10.85	(\$292.95
	1370	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material			-338.88	\$77.00	(\$26,093.76
	1370	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0023) due to user graesj1 overridding Payment Estimate Exception 18 on the current Payment Estimate.	338.88	\$77.00	\$26,093.76
	1390	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material			-7,913.89	\$56.00	(\$443,177.84
	1390	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED,	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item	7,913.89	\$56.00	\$443,177.84

Revision 4/1/2020 Page 3 of 48



Pay Estimate Created Date: December 1, 2020

Progress Estimate Number	Contract ID	191018-D03	Pay Period Start	November 16, 2020	<b>Original Contract Amount</b>	\$9,711,377.55
20	<b>Prime Contractor</b>	Emery Sapp & Sons, Inc.	Pay Period End	December 1, 2020	<b>Net Change Order Amount</b>	\$56,273.20
20					<b>Current Contract Amount</b>	\$9,767,650.75

t Line		Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
1	15 FT. JOINTS)			Adjustment (0024) due to user graesj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.			
141	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material			-3,445.33	\$56.00	(\$192,938.48)
141	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0027) due to user graesj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.	3,445.33	\$56.00	\$192,938.48
143	TYPE A2 SHOULDER	Material			-305.24	\$38.00	(\$11,599.12
143	TYPE A2 SHOULDER	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0028) due to user graesj1 overridding Payment Estimate Exception 20 on the current Payment Estimate.	305.24	\$38.00	\$11,599.12
145	TYPE A2 SHOULDER	Material			-121.56	\$38.00	(\$4,619.28)
145	TYPE A2 SHOULDER	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0029) due to user graesj1 overridding Payment Estimate Exception 21 on the current Payment Estimate.	121.56	\$38.00	\$4,619.28
171	CONCRETE FOOTINGS, EMBEDDED	Material			-3.11	\$800.00	(\$2,488.00)
171	CONCRETE FOOTINGS, EMBEDDED	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0025) due to user graesj1 overridding Payment Estimate Exception 43 on the current Payment Estimate.	3.11	\$800.00	\$2,488.00
173	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	Material			-8	\$315.00	(\$2,520.00
173	D BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0026) due to user graesj1 overridding Payment Estimate Exception 44 on the current Payment Estimate.	8	\$315.00	\$2,520.00
197	BRIDGE APPROACH SLAB (MAJOR ROAD)	Material			-179	\$240.00	(\$42,960.00
197	BRIDGE APPROACH SLAB (MAJOR ROAD)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 22 on the current Payment Estimate.	179	\$240.00	\$42,960.00
198	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$171.25)
201	SLAB ON CONCRETE I- GIRDER	Material			-20.455	\$410.00	(\$8,386.55
201	SLAB ON CONCRETE I- GIRDER	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0017) due to user graesj1 overridding Payment Estimate Exception 37 on the current Payment Estimate.	20.455	\$410.00	\$8,386.55
202	TYPE D BARRIER	Material			-285	\$120.00	(\$34,200.00
202	TYPE D BARRIER	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0018) due to user graesj1 overridding Payment Estimate Exception 38 on the current Payment Estimate.	285	\$120.00	\$34,200.00

Revision 4/1/2020 Page 4 of 48



Pay Estimate Created Date: December 1, 2020

Progress Estimate Number					Original Contract Amount	
20	Prime Contractor	Emery Sapp & Sons, Inc.	Pay Period End	December 1, 2020	Net Change Order Amount	\$56,273.20
20					Current Contract Amount	\$9.767.650.75

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
5P3181	2151	PRE-BORE FOR PILING	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',190.00000 - 190.00000, 'is applied (if non-zero).	27	\$190.00	\$5,130.00
	2250	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$44,662.14)
	2250	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	Material			-5,057	\$68.00	(\$343,876.00
	2250	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0002) due to user graesj1 overridding Payment Estimate Exception 39 on the current Payment Estimate.	5,057	\$68.00	\$343,876.00
	2280	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$28,743.14)
	2280	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	Material			-4,338	\$68.00	(\$294,984.00
	2280	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0033) due to user graesj1 overridding Payment Estimate Exception 40 on the current Payment Estimate.	4,338	\$68.00	\$294,984.00

Revision 4/1/2020 Page 5 of 48



					(	Contract Project Information	1
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J5P3181	FAF-15-1(17)	Grading, pavement and 2 bridges	54	MILLER	at the Route 54, BR 54	, and Osage Hills Road inte	ersection near Lake Ozark
Γotals by J	Job Numbers						
J5P3181	Posted Ite Gross Iter	n Adjustments	s iross Iter	m Pay	This Estimate \$355,716.40 (\$68,737.83) \$286,978.57	Previous \$6,224,607.58 \$104,652.10 \$6,329,259.68	To Date \$6,580,323.98 \$35,914.27 \$6,616,238.25
		ive d Damages itract Adjustm	ents		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00

Revision 4/1/2020 Page 6 of 48



**Exceptions (Discrepancies) This Estimate Period** 

Extractor Exception Type Insufficient Name of College (1997) (Insufficient Name of College (1997)) (Insuffic	Exceptions (Discrepancies) This Estimate Period			
Number 2010. Material Sci 2010.0000. Marcial Sci 2010.00000. Springer and California C. Ecological Processing Control	Exceptions / Discrepencies	Explanation		Status
Names (2000), Material Set 2005(2000), Materia	Number 0050, Material Set 203550096, Material 0200XXCS - Compacted Soil for Subgrade	QA reported needs corrected	graesj1	Overridden
Number 2010, Material Set 2010/1705 (Material Set 2010	Number 0060, Material Set 203600096, Material 0200XXCS - Compacted Soil for Subgrade	QA report needs corrected	graesj1	Overridden
Number 1900, Marierial Sez (2018 (1000) Marierial (2018 (1000) An International Conference of Confer	Number 0070, Material Set 203707596, Material 0200XXCS - Compacted Soil for Subgrade	QA report needs corrected	graesj1	Overridden
Number 100, Manerial Sez 03405096, Material 1007/11AB.D. To - Agg Base Type 1.8 5 [missenbo000-bins, Acceptance Action Center 1007/18AD.D. To is marificiant. Editional Exception Type: Insufficient Materials: Propert 1597/18AD. To is marificiant. Propert 1597/18AD. To is marificiant. Propert 1597/18AD.D. To issue 1597/18AD.D. To issu	Number 0100, Material Set 208100096, Material 0200XXCS - Compacted Soil for Subgrade	QA report needs corrected	graesj1	Overridden
Number 1980, Material Sei 600133368, Material 1050CAMLDST2 in Intelligent Materials Frogrock JPS181, Item 901332, Project tem Line Part Materials Frogrock JPS181, Item 901332, Project tem Line Part Materials Frogrock JPS181, Item 901332, Project tem Line George Part Materials Frogrock JPS181, Item 901332, Project tem Line George Part Materials Frogrock JPS181, Item 901332, Project tem Line George Part Materials Frogrock JPS181, Item 901332, Project tem Line George Part Materials Frogrock JPS181, Item 901323, Project tem Line George Part Materials Frogrock JPS181, Item 901323, Project tem Line George Part Materials Frogrock JPS181, Item 901323, Project tem Line George Part Materials Frogrock JPS181, Item 901323, Project tem Line George Part Materials Frogrock JPS181, Item 901332, Project tem Line George Part Materials Frogrock JPS181, Item 901332, Project tem Line Materials Frogrock JPS181, Ite	Number 0160, Material Set 304050696, Material 1007T1ABLDT5 - Agg Base Type 1 & 5	QC report needs entered	graesj1	Overridden
Number 1390, Material Set 50133296, Material 1075/MDAECA.11 - Dowel Assembles Epocy Cirl Gre0 1 141 **(*) Acceptance Action Generic Reinforconglista is insufficient.  Estimate Exception Type: Insufficient Materials: Project JS97818, Item 2021332, Project Item Line Number 1300, Material Set 501332396, Material 1075/MTBE2010 - Tie Bar Ep Cit do '70 No. 5M10 Gr 20040000, Acceptance Action Generic Participation (Insufficient Materials: Project JS97818, Item 2021332, Project Item Line Number 1300, Material Set 50133298, Material 1075/MTBE20116 - The Bar Ep Cit do '70 No. 5M10 Gr 2004000, Acceptance Action Generic Participation (Insufficient Number 1300, Material Set 50133298), Assemble 1300 (1904), Acceptance Action Generic Set 50133298, Project Item Line Number 1300, Material Set 50133298, Project JS97818, Item 2021332, Project Item Line Number 1200, Material Set 50133298, Audient 1055/MTBE20116 - The Bar Ep Cit do '70 No. 5M10 Gr 20040000000000000000000000000000000000	Number 1390, Material Set 502133296, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating	PAL needs entered	graesj1	Overridden
Number 1300, Material Set 502133236, Material 1057/MTBEA2016 - The Bar Ep Cut 30° No. 5M16 Gr 60MA2008, Acceptance Action Generic Reinforcingsfalse is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1300, Material Set 502133206, Material 1057/MTBE2016 - The Bar Ep Cut 30° No. 5M16 Gr 40MX2008, Acceptance Action Generic Reinforcingsfalse is insufficient.  Pal, needs entered  Qa report needs corrected  grasej1 Overridden Number 1025, Material Set 502133209, Material 1057/MTBE2016 - The Bar Ep Cut 30° No. 5M16 Gr 40MX2008, Acceptance Action Generic 600TCCPACCOAL is manufacture.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1025, Material Set 502133209, Material 1050TCCPACCOAL is manufacture.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1025, Material Set 502133209, Material 1050CMMLD572 is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1025, Material Set 50213320, Material 1057/MTBE2010 - The Bar Ep Cut 30° No. 5M16 Gr 40MX2008, Acceptance Action Generic 1055CMMLD572 is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1025, Material Set 502133308, Material 1057/MTBE2010 - The Bar Ep Cut 30° No. 5M16 Gr 40MX2008, Acceptance Action Generic Reinforcings Action Exercises and Set 502133308, Material 1057/MTBE2010 - The Bar Ep Cut 30° No. 5M16 Gr 40MX2008, Acceptance Action Generic Reinforcings Action Exercises Reinforcings Reinforcings Acceptance Action Generic Reinforcings Reinforcin	Number 1390, Material Set 502133296, Material 1057JMDAEC4.11 - Dowel Assemblies Epoxy Ctd Gr40	PAL needs entered	graesj1	Overridden
Number 1390, Material Set 502133296, Material 1057.MTRE28016 - The Bart Ep Claf 30° No. 5M16 Gr 40M250gb, Acceptance Action Genetic ReinforcingMiss is insufficient.  Estimate Exception Type, Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 0250, Material 50510CAPACOAL - Construction Exception Type, Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 0250, Material 50510CAPACOAL - Construction and the Part of the Number 0250, Material 10550CMMLDST12 - White Pavement-Bridge Dissipating Que gl. Acceptance Action Genetic 10550CMMLDST12 - White Pavement-Bridge Dissipating Que gl. Acceptance Action Genetic Number 0250, Material 10550CMMLDST12 - White Pavement-Bridge Dissipating Que gl. Acceptance Action Genetic ReinforcingMiss is insufficient.  Estimate Exception Type Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 0250, Material 10570CMMERE2016 - The Bart Ep Claf 30° No. 55M16 Gr 60M420gb, Acceptance Action Genetic ReinforcingMiss is insufficient.  Estimate Exception Type Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 0250, Material 10570CMMLDST12 - White Pavement-Bridge Dissipating Que gl. Acceptance Action Genetic ReinforcingMiss is insufficient.  Estimate Exception Type Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Materials Set 502133296, Material 10550CMMLDST2 - White Pavement-Bridge Dissipating Que gl. Acceptance Action Genetic ReinforcingMiss is insufficient.  Estimate Exception Type Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Materials Set 502133296, Material 10570CMMLDST2 - White Pavement-Bridge Dissipating Que gl. Acceptance Action Genetic ReinforcingMiss is insufficient.  Estimate Exception Type Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Materials Set 502133296, Material 10570CMMLDST2 - Wh	Number 1390, Material Set 502133296, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr	PAL needs entered	graesj1	Overridden
Number 0250, Material Set 50213326, Material 0561CCPAQCOA, Concrete, Pawment contractor mix or COCA, Acceptance Action Genetic 0501CCPAQCOA, is insufficient.  Estimate Exception Type: Insufficient Materials: Project J593181, Item 5021332, Project Item Line Number 0250, Material 05556, Material 10556, MMLDST2 via insufficient.  Estimate Exception Type: Insufficient Materials: Project J593181, Item 5021332, Project Item Line Number 0250, Material 0556, MMLDST2 via insufficient.  Estimate Exception Type: Insufficient Materials: Project J593181, Item 5021332, Project Item Line Number 0250, Material 0576, Material 0574, MTB524016 - The Bar Ep Cld 30° No. 5M16 Gr 60MA200, Acceptance Action Genetic Reinforcinglistic is insufficient.  Estimate Exception Type: Insufficient Materials: Project J593181, Item 5021332, Project Item Line Number 0250, Material 0576, Material 0574, MTB524016 - The Bar Ep Cld 30° No. 5M16 Gr 60MA200, Acceptance Action Genetic Reinforcinglistic is insufficient.  Estimate Exception Type: Insufficient Materials: Project J593181, Item 5021332, Project Item Line Number 1410, Material Set 502133250, Material 10575MMLDST2 insufficient Number 1410, Material Set 502133250, Material 1057MMDACG11 - Dowel Assemblies Epoxy Cld Grd0  1/14 °C, Acceptance Action Genetic Networks of the Set Set Set Set Set Set Set Set Set Se	Number 1390, Material Set 502133296, Material 1057JMTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr	PAL needs entered	graesj1	Overridden
Number 0250, Material Set 502133296, Material 1055CMMLDST2 - Vhite Pavement-Bridge Dissipating Cure @. Acceptance Action Generic DiSSCMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 0250, Material Set 502133296, Material 105124, JSP3181, Item 5021332, Project Item Line Number 0250, Material Set 502133296, Material 105124, JSP3181, Item 5021332, Project Item Line Number 0250, Material Set 502133296, Material 105124, JSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133396, Material 105124, MSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133396, Material 105124, MSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133396, Material 105124, MSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133396, Material 105124, MSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133396, Material 105124, MSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133396, Material 10510MDASC4.11 - Outer Assemblies Espoy Xcl Gr40 1147 ©. Acceptance Action Generic Reinforcing/Misc is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133296, Material 10512MDASC4.11 - Outer Assemblies Disposition Set 1051334, MSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133296, Material 10512MTBE24016 - The Bar Ep Cit 30° No. 5M16 Gr doMX4000, Acceptance Action Generic Reinforcing/Misc is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133396, Material 10550MMLDST2: White Pavement-Bridge Dissipating Cure @. Acceptance Action Generic Reinforcing/Misc is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021333, Project Item Line Number 1370, Material Set 50213398, Material 10550MMLDST2: White Pavement-Bridge Dissipating Cur	Number 0250, Material Set 502133296, Material 0501CCPAQCQA - Concrete, Payment contractor mix	QA report needs corrected	graesj1	Overridden
Number 0250, Material Set 502133296, Material 1057JMTBE42016 - Tie Bar Ep Cld 307 No. 5M16 Gr 60M420@, Acceptance Action Generic Reinforcingblikes is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1050, Material Set 502133296, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic Reinforcingblikes is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133296, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic Reinforcingblikes is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133296, Material 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133296, Material 1057JMDE4C016: The Bar Ep Cld 307 No. 5M16 Gr 80M420@, Acceptance Action Generic Reinforcingblikes is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133296, Material 1057JMTBE42016: The Bar Ep Cld 307 No. 5M16 Gr 80M420@, Acceptance Action Generic Reinforcingblikes is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021333, Project Item Line Number 1370, Material Set 502133296, Material 1057JMTBE22016: The Bar Ep Cld 307 No. 5M16 Gr 40M220@, Acceptance Action Generic Reinforcingblikes is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021333, Project Item Line Number 1370, Material Set 502133396, Material 1057JMTBE22016: The Bar Ep Cld 307 No. 5M16 Gr 40M220@, Acceptance Action Generic Reinforcingblikes is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021333, Project Item Line Number 1370, Material Set 50213496,	Number 0250, Material Set 502133296, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating	PAL needs entered	graesj1	Overridden
Number 0250, Material Set 502133298, Material 1057/MTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 40/M280@, Acceptance Action Generic Reinforcing/Misc is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Material 1055/MMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055/MMLDST2 insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133296, Material 1057/MMTBE47014 - Down IAssemblies Epoxy Ctd Gr40 11/4° @, Acceptance Action Generic Reinforcing/Misc is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133296, Material 1057/MMTBE47016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic Reinforcing/Misc is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133296, Material 1057/MMTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 40/M280@, Acceptance Action Generic Reinforcing/Misc is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021333, Project Item Line Number 1370, Material Set 50213396, Material 1055/MMLDST2: White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055/CMMLDST2: White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055/CMMLDST2: White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055/CMMLDST2: White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055/CMMLDST2: White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic Neinforcing/Misc is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021340, Project Item Line Number 1430, Material Set 502134096, Material 1055/CMMLDST2: White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055/CMMLDST2: White Pavement-Bridge	Number 0250, Material Set 502133296, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr	PAL needs entered	graesj1	Overridden
Number 1410, Material Set 502133296, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021332, Project Item Line Number 1410, Material Set 502133296, Material 1057JMPEA2016 - Tie Bar Ep Cld 30° No. 5MH6 Gr 60MA20@, Acceptance Action Generic Reinforcing/Misc is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021332, Project Item Line Number 1410, Material Set 502133296, Material 1057JMPEA2016 - Tie Bar Ep Cld 30° No. 5MH6 Gr 60MA20@, Acceptance Action Generic Reinforcing/Misc is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021332, Project Item Line Number 1410, Material Set 502133296, Material 1057JMPEA2016 - Tie Bar Ep Cld 30° No. 5MH6 Gr 40MA20@, Acceptance Action Generic Reinforcing/Misc is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021333, Project Item Line Number 1370, Material Set 502133396, Material 1055CMMLDST2: White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic Reinforcing/Misc is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021333, Project Item Line Number 1370, Material Set 502133396, Material 1055CMMLDST2: White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic Reinforcing/Misc is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021340, Project Item Line Number 1430, Material Set 502134096, Material 1055CMMLDST2: White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2: White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2: White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2: White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2: White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2: Insufficient.	Number 0250, Material Set 502133296, Material 1057JMTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr	PAL needs entered	graesj1	Overridden
Number 1410, Material Set 502133296, Material 1057.JMDAECA.11 - Dowel Assemblies Epoxy Ctd Gr40  11/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 50213329, Project Item Line Number 1410, Material Set 502133296, Material 1057.JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 50213329, Project Item Line Number 1410, Material Set 502133296, Material 1057.JMTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 40/M280@, Acceptance Action Generic ReinforcingMisc is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021333, Project Item Line Number 1370, Material Set 502133396, Material 1055.CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055.CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021333, Project Item Line Number 1370, Material Set 502133396, Material 1057.JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 50213409, Project Item Line Number 1430, Material Set 502134096, Material 1055.CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021340, Project Item Line Number 1430, Material Set 502134096, Material 1055.CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021340, Project Item Line Number 1450, Material Set 502134096, Material 1055.CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line Number 1970, Material Set 5031010A96, Material 1055.DMRLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line Number 1970, Materia	Number 1410, Material Set 502133296, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating	PAL needs reported	graesj1	Overridden
Number 1410, Material Set 502133296, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021332, Project Item Line Number 1410, Material Set 502133296, Material 1057JMTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 40/M280@, Acceptance Action Generic ReinforcingMisc is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021333, Project Item Line Number 1370, Material Set 502133396, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021333, Project Item Line Number 1370, Material Set 502133396, Material 10557JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021333, Project Item Line Number 1430, Material Set 502133396, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 white Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5021340, Project Item Line Number 1450, Material Set 502134096, Material 1055CMMLDST2 white Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project JSP3181, Item 5031010A, Project Item Line Number 1450, Material Set 5031010A96, Material Set 5	Number 1410, Material Set 502133296, Material 1057JMDAEC4.11 - Dowel Assemblies Epoxy Ctd Gr40	PAL needs reported	graesj1	Overridden
Number 1410, Material Set 502133296, Material 1057JMTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 40/M280@, Acceptance Action Generic ReinforcingMisc is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021333, Project Item Line Number 1370, Material Set 502133396, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021333, Project Item Line Number 1370, Material Set 502133396, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021340, Project Item Line Number 1430, Material Set 502134098, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021340, Project Item Line Number 1450, Material Set 502134098, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021340, Project Item Line Number 1450, Material Set 502134098, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matt @, Acceptance Action Generic 1057JMFRPF - Preformed Fiber Expansion Joint Matt @, Acceptance Action Generic 1057JMFRPF is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line Number 1970, Material Set 5031010A96, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matt @, Acceptance Action Generic 10057JMFRPF is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line QA report needs corrected graesj 1 Overridden	Number 1410, Material Set 502133296, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr	PAL needs reported	graesj1	Overridden
Number 1370, Material Set 502133396, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021333, Project Item Line Number 1370, Material Set 502133396, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021340, Project Item Line Number 1430, Material Set 502134096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021340, Project Item Line Number 1450, Material Set 502134096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line Number 1970, Material Set 5031010A96, Material 1055TMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line Number 1970, Material Set 5031010A96, Material 105510.CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510.CPCMLD is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line QA report needs entered  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line QA report needs corrected  Graesj1 Overridden  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line QA report needs corrected	Number 1410, Material Set 502133296, Material 1057JMTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr	PAL needs reported	graesj1	Overridden
Number 1370, Material Set 502133396, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021340, Project Item Line Number 1430, Material Set 502134096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021340, Project Item Line Number 1450, Material Set 502134096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line Number 1970, Material Set 5031010A96, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.  PAL needs reported  PAL needs reported  graesj1  Overridden  PAL needs reported  graesj1  Overridden	Number 1370, Material Set 502133396, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating	PAL needs reported	graesj1	Overridden
Number 1430, Material Set 502134096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5021340, Project Item Line Number 1450, Material Set 502134096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line Number 1970, Material Set 5031010A96, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line Number 1970, Material Set 5031010A96, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line QA report needs corrected graesj1 Overridden	Number 1370, Material Set 502133396, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr	PAL needs reported	graesj1	Overridden
Number 1450, Material Set 502134096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line Number 1970, Material Set 5031010A96, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line Number 1970, Material Set 5031010A96, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line QA report needs corrected graesj1 Overridden	Number 1430, Material Set 502134096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating	PAL needs reported	graesj1	Overridden
Number 1970, Material Set 5031010A96, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line Number 1970, Material Set 5031010A96, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line  QA report needs corrected  graesj1  Overridden	Number 1450, Material Set 502134096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating	PAL needs reported	graesj1	Overridden
Number 1970, Material Set 5031010A96, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.  Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5031010A, Project Item Line  QA report needs corrected  graesj1 Overridden	Number 1970, Material Set 5031010A96, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl	PAL needs reported	graesj1	Overridden
	Number 1970, Material Set 5031010A96, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO,	QC report needs entered	graesj1	Overridden
		QA report needs corrected	graesj1	Overridden

Revision 4/1/2020 Page 7 of 48



**Exceptions (Discrepancies) This Estimate Period** 

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Action Generic 0501CCB2.A is insufficient.			
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5041000, Project Item Line Number 0260, Material Set 504100096, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.	PAL needs entered	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5041000, Project Item Line Number 0260, Material Set 504100096, Material 0501CCPAQCQA - Concrete, Payment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	QA report needs corrected	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5041000, Project Item Line Number 0260, Material Set 504100096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	PAL needs entered	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5041000, Project Item Line Number 0260, Material Set 504100096, Material 1057JMTBE42019 - Tie Bar Ep Ctd 40" No. 6/M19 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	PAL needs entered	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 5041000, Project Item Line Number 0260, Material Set 504100096, Material 1057JMTBE28019 - Tie Bar Ep Ctd 40" No. 6/M19 Gr 40/M280@, Acceptance Action Generic ReinforcingMisc is insufficient.	PAL needs entered	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 6091010, Project Item Line Number 0290, Material Set 609101096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	PAL needs entered	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 6091042, Project Item Line Number 0300, Material Set 609104296, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	QC report needs entered	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 6091042, Project Item Line Number 0300, Material Set 609104296, Material 0501CCPAQCQA - Concrete, Payment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	QA report needs corrected	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 6091042, Project Item Line Number 0300, Material Set 609104296, Material 1036RSDFPL42M13 - Reinforcing Steel No. 4/M13 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	PAL needs entered	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 6099903, Project Item Line Number 0430, Material Set 6099903, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	QC report needs entered	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 6099903, Project Item Line Number 0430, Material Set 6099903, Material 1036RSDFPL42M13 - Reinforcing Steel No. 4/M13 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	PAL needs entered	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 6099903, Project Item Line Number 0420, Material Set 6099903, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	PAL needs reported	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 7034213, Project Item Line Number 2010, Material Set 703421396, Material 0501CCB2MDA - Concrete, Modified B-2 w/Air, Acceptance Action Generic 0501CCB2MDA is insufficient.	Working to resolve	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 7034219A, Project Item Line Number 2020, Material Set 7034219A96, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	QC report needs entered	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 7201000, Project Item Line Number 2250, Material Set 720100096, Material 1010SGBF - Select Gran Backfill for Structural Sys, Acceptance Action Generic 1010SGBF is insufficient.	QC report needs entered	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 7201000, Project Item Line Number 2280, Material Set 720100096, Material 1010SGBF - Select Gran Backfill for Structural Sys, Acceptance Action Generic 1010SGBF is insufficient.	QC report needs entered	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 7261018, Project Item Line Number 1010, Material Set 726101896, Material 1041CPPPDW18 - Polypropylene Culv Double Wall 18", Acceptance Action Generic 1041CPPPDW18 is insufficient.	PAL needs entered	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 7320618A, Project Item Line Number 1120, Material Set 7320618A96, Material 1032ESRCF - Conc End Section for Round Pipe, Acceptance Action Generic 1032ESRCF is insufficient.	Freeform report needs entered	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 9031010, Project Item Line Number 1710, Material Set 903101096, Material 0501CCBA - Concrete, Class B w/Air, Acceptance Action Generic 0501CCBA is insufficient.	QA report needs corrected	graesj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3181, Item 9031241, Project Item Line Number 1730, Material Set 903124196, Material 0903HSBA - Breakaway Assembly for Highway Signing, Acceptance Action Generic 0903HSBA is insufficient.	QA report needs corrected	graesj1	Overridden
Estimate Exception Type: Item Overrun: Contract 191018-D03, Contract Project J5P3181, Project Item Line Number 1240, Contract Line Item Number 1240, Item 8061005, Minor Item.	Change Order in progress	graesj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 191018-D03, Contract Project J5P3181, Project Item Line Number 0660, Contract Line Item Number 0660, Item 6173600D, Minor Item.	Change Order in Progress	graesj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 191018-D03, Contract Project J5P3181, Project Item Line Number 0670, Contract Line Item Number 0670, Item 6174000A, Minor Item.	Change Order in Progress	graesj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 191018-D03, Contract Project J5P3181, Project Item Line Number 0840, Contract Line Item Number 0840, Item 6206124A, Minor Item.	Change Order in Progress	graesj1	Acknowledged

Revision 4/1/2020 Page 8 of 48



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted am  Description	Bid Quantity	Net Change	Total Current	Unit	Total Posted	Unit Price	Total Value POSTED To Date (See report
							Order	Quantity		Approved Qty		generated date)
191018-D03	J5P3181	0001	0010	2013000	CLEARING AND GRUBBING	20.00	0.00	20.00	ACRE	20.00	\$4,250.00	\$85,000.00
		0001	0020	2019902	MISCMOWING	6.00	0.00	6.00	EA	2.00	\$645.00	\$1,290.00
		0001	0030	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.90	\$130,500.00	\$117,450.00
		0001	0040	2035000	UNCLASSIFIED EXCAVATION	101,729.00	436.00	102,165.00	CUYD	99,239.68	\$5.90	\$585,514.11
		0001	0050	2035500	EMBANKMENT IN PLACE	100,533.00	0.00	100,533.00	CUYD	76,938.00	\$6.60	\$507,790.80
		0001	0060	2036000	COMPACTING EMBANKMENT	86,177.00	-3,496.00	82,681.00	CUYD	65,653.85	\$1.60	\$105,046.16
		0001	0070	2037075	COMPACTING IN CUT	22.50	0.00	22.50	STA	12.55	\$773.00	\$9,701.15
		0001	0080	2063000	CLASS 3 EXCAVATION	2,253.00	0.00	2,253.00	CUYD	1,167.20	\$10.50	\$12,255.60
		0001	0090	2063100	CLASS 3 EXCAVATION IN ROCK	745.00	0.00	745.00	CUYD	723.50	\$85.00	\$61,497.50
		0001	0100	2081000	INTERCEPTION DITCH	3.00	4.00	7.00	100F	6.10	\$375.00	\$2,287.50
		0001	0110	2099905	MISC.GROUND IMPROVEMENTS	229.60	0.00	229.60	SQYD	143.37	\$100.00	\$14,337.00
		0001	0120	2142000	FURNISHING ROCK FILL	38.00	0.00	38.00	CUYD	38.00	\$30.00	\$1,140.00
		0001	0130	2143000	PLACING ROCK FILL	38.00	0.00	38.00	CUYD	38.00	\$50.00	\$1,900.00
		0001	0140	2151000A	SHAPING SLOPES, CLASS I	39.20	0.00	39.20	100F	6.21	\$325.00	\$2,018.25
		0001	0150	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	7,101.00	0.00	7,101.00	SQYD	4,610.44	\$6.75	\$31,120.47
		0001	0160	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	34,906.00	0.00	34,906.00	SQYD	20,927.60	\$8.20	\$171,606.32
		0001	0170	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	41.00	0.00	41.00	TONS	0.00	\$43.00	\$0.00
		0001	0180	4010150	TYPE A2 SHOULDER	115.10	0.00	115.10	SQYD	70.90	\$65.00	\$4,608.50
		0001	0190	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	244.20	0.00	244.20	TONS	0.00	\$150.00	\$0.00
		0001	0200	4019905	MISC.OPTIONAL PAVEMENT - 7 IN. HMA OR 7 IN. PCCP	6,366.80	0.00	6,366.80	SQYD	4,161.55	\$50.00	\$208,077.50
		0001	0210	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	3,162.30	0.00	3,162.30	TONS	2,057.11	\$150.00	\$308,566.50
		0001	0220	4030403	10 INCHES, ASPHALTIC CONCRETE PAVEMENT SP125C	839.60	0.00	839.60	SQYD	791.51	\$82.00	\$64,903.82
		0001	0230	4030410	13 INCHES, ASPHALTIC CONCRETE PAVEMENT SP125C	4,505.60	0.00	4,505.60	SQYD	4,505.60	\$75.00	\$337,920.00
		0001	0240	4071005	TACK COAT	2,989.00	0.00	2,989.00	GAL	2,158.40	\$4.00	\$8,633.60
		0001	0250	5021332	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT.	1,668.50	0.00	1,668.50	SQYD	1,228.70	\$80.00	\$98,296.00
		0001	0260	5041000	JOINTS)  CONCRETE APPROACH PAVEMENT	268.10	0.00	268.10	SQYD	134.20	\$165.00	\$22,143.00
		0001	0270	6083006	6 IN. CONCRETE MEDIAN STRIP	1,296.70	0.00	1,296.70	SQYD	206.50	\$65.00	\$13,422.50
		0001	0280	6085008	PAVED APPROACH, 8 IN.	734.60	0.00	734.60	SQYD	0.00	\$60.00	\$0.00
		0001	0290	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	686.00	0.00	686.00	LF	439.80	\$46.00	\$20,230.80
		0001	0300	6091042	CONCRETE GUTTER TYPE B	278.00	0.00	278.00	LF	72.00	\$45.00	\$3,240.00
		0001	0310	6091051	CURB AND GUTTER TYPE A	769.00	0.00	769.00	LF	0.00	\$24.00	\$0.00
		0001	0320	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	125.00	0.00	125.00	LF	62.60	\$26.00	\$1,627.60
		0001	0330	6094010	DRAIN BASIN	4.00	0.00	4.00	EA	2.00	\$4,300.00	\$8,600.00
		0001	0340	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	217.00	0.00	217.00	CUYD	182.80	\$26.00	\$4,752.80
		0001	0350	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	240.00	146.10	386.10	CUYD	287.30	\$30.00	\$8,619.00
		0001	0360	6096030A	FURNISHING TYPE 3 ROCK DITCH LINER	1,541.00	0.00	1,541.00	CUYD	1,186.10	\$36.00	\$42,699.60
		0001	0370	6096041	PLACING TYPE 1 ROCK DITCH LINER	217.00	0.00	217.00	CUYD	182.80	\$26.00	\$4,752.80
			0380	6096042	PLACING TYPE 2 ROCK DITCH LINER	240.00	146.10	386.10	CUYD	287.30	\$31.00	\$8,906.30
		0001	0390	6096042	PLACING TYPE 3 ROCK DITCH LINER  PLACING TYPE 3 ROCK DITCH LINER		0.00		CUYD	1,186.10	\$31.00	
		0001	0390	6096050		1,541.00	212.00	1,541.00 560.00	CUYD		\$23.00	\$27,280.30
		0001			BEDDING MATERIAL FOR ROCK DITCH LINER	348.00				357.60		\$16,807.20
		0001	0410	6097000	ROCK LINING	81.00	0.00	81.00	CUYD	27.20	\$100.00	\$2,720.00
		0001	0420	6099903	MISC.MODIFIED CONCRETE CURB (6 IN. HEIGHT) TYPE S	476.00	383.00	859.00	LF	476.00	\$50.00	\$23,800.00
		0001	0430	6099903	MISC.MODIFIED CONCRETE GUTTER TYPE A	51.00	0.00	51.00	LF	51.00	\$115.00	\$5,865.00
		0001	0440	6099903	MISC.MODIFIED CURB AND GUTTER TYPE B	2,002.00	0.00	2,002.00	LF	1,753.20	\$21.00	\$36,817.20
		0001	0450	6113010	FURNISHING TYPE 1 ROCK BLANKET	108.00	0.00	108.00	CUYD	0.00	\$36.00	\$0.00
		0001	0460	6113030	PLACING TYPE 1 ROCK BLANKET	108.00	0.00	108.00	CUYD	0.00	\$49.00	\$0.00

Page 9 of 48 Revision 4/1/2020



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

					eport Generated date and can differ from the posted amo							
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191018-D03	J5P3181	0001	0470	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$12,000.00	\$0.00
		0001	0480	6141022	GRATE AND BEARING PLATE (3 FT. X 3 FT. OR 914 MM X 914 MM)	3.00	0.00	3.00	EA	1.00	\$1,110.00	\$1,110.00
		0001	0490	6141024	GRATE AND BEARING PLATE (5 FT. X 3 FT. OR 1524 MM X 914 MM)	1.00	0.00	1.00	EA	0.00	\$1,400.00	\$0.00
		0001	0500	6141120	CURVED VANE GRATE AND FRAME (2 FT. X 2 FT. OR 600MM X 600MM)	5.00	0.00	5.00	EA	2.00	\$455.00	\$910.00
		0001	0510	6141121	CURVED VANE GRATE AND FRAME (4 FT. X 2 FT. OR 1200MM X 600MM)	3.00	0.00	3.00	EA	0.00	\$760.00	\$0.00
		0001	0520	6143013	MANHOLE FRAME AND COVER, TYPE 3	4.00	0.00	4.00	EA	0.00	\$465.00	\$0.00
		0001	0530	6143020	CURB INLET	4.00	0.00	4.00	EA	2.00	\$3,300.00	\$6,600.00
		0001	0540	6161005	CONSTRUCTION SIGNS	3,061.00	718.00	3,779.00	SQFT	3,478.80	\$8.00	\$27,830.40
		0001	0550	6161008	ADVANCED WARNING RAIL SYSTEM	33.00	0.00	33.00	EA	33.00	\$35.00	\$1,155.00
		0001	0560	6161009	FLAG ASSEMBLY	31.00	0.00	31.00	EA	21.00	\$20.00	\$420.00
		0001	0570	6161024	CHANNELIZER (TRIM LINE) WITH LIGHT	40.00	0.00	40.00	EA	30.00	\$50.00	\$1,500.00
		0001	0575	6161025	CHANNELIZER (TRIM LINE)	120.00	100.00	220.00	EA	220.00	\$20.00	\$4,400.00
		0001	0580	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	30.00	0.00	30.00	EA	26.00	\$175.00	\$4,550.00
		0001	0585	6161033	DIRECTIONAL INDICATOR BARRICADE	30.00	0.00	30.00	EA	30.00	\$65.00	\$1,950.00
		0001	0600	6161040	FLASHING ARROW PANEL	6.00	0.00	6.00	EA	3.00	\$2,050.00	\$6,150.00
		0001	0610	6161052	WARNING LIGHT, TYPE B	27.00	0.00	27.00	EA	0.00	\$55.00	\$0.00
		0001	0620	6161055	SEQUENTIAL FLASHING WARNING LIGHT	30.00	0.00	30.00	EA	30.00	\$75.00	\$2,250.00
		0001	0630	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	8.00	0.00	8.00	EA	5.00	\$4,020.00	\$20,100.00
		0001	0640	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	40.00	0.00	40.00	EA	8.00	\$1,200.00	\$9,600.00
		0001	0650	6169901	MISC.MESSAGE BOARD INTERFACE	1.00	0.00	1.00	LS	1.00	\$10,990.00	\$10,990.00
		0001	0660	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED /	895.00	329.00	1,224.00	LF	1,444.00	\$25.50	\$36,822.00
		0001	0670	6174000A	RETAINED TEMPORARY TRAFFIC BARRIER HEIGHT TRANSITION	1.00	0.00	1.00	EA	3.00	\$750.00	\$2,250.00
		0001	0680	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	970.00	337.00	1,307.00	LF	0.00	\$9.00	\$0.00
		0001	0690	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$935,200.00	\$0.00
		0001	0691	6181000	MOBILIZATION	0.00	1.00	1.00	LS		\$893,789.00	\$893,789.00
		0001	0700	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.00
		0001	0710	6191000	PAVEMENT EDGE TREATMENT	11,609.00	0.00	11.609.00	LF	4.814.00	\$1.25	\$6,017.50
		0001	0720	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	24.00	0.00	24.00	LF	0.00	\$30.00	\$0.00
		0001	0730	6200021	WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING,	13.00	0.00	13.00	EA	2.00	\$300.00	\$600.00
		0001	0740	6200024	LEFT/RIGHT ARROW PREFORMED THERMOPLASTIC PAVEMENT MARKING.	1.00	0.00	1.00	EA	1.00	\$300.00	\$300.00
		0001	0750	6200042	STRAIGHT ARROW PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN	131.00	0.00	131.00	EA	43.00	\$37.50	\$1,612.50
		0001	0760	6200051	WHITE, YIELD LINE TRIANGLES  PREFORMED THERMOPLASTIC PAVEMENT MARKING,	3.00	0.00	3.00	EA	3.00	\$1,500.00	\$4.500.00
			0770	6205309	COMBINATION STR/LT/RT FISH HOOK ARROW TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	108.00	0.00	108.00	LF	0.00	\$6.75	\$0.00
		0001	0780	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING	12,915.00	0.00	12,915.00	LF	0.00	\$0.73	\$0.00
		0001	0790	6205903A	PAINT, TYPE L BEADS 6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT	10,282.00	0.00	10,282.00	LF	0.00	\$0.44	\$0.00
		0001	0800	6205906A	MARKING PAINT, TYPE L BEADS  12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT	3,304.00	0.00	3,304.00	LF	0.00	\$0.95	\$0.00
		0001	0810	6206000C	MARKING PAINT, TYPE L BEADS 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	6,331.00	0.00	6,331.00	LF	1,135.00	\$0.79	\$896.65
		0001	0820	6206001C	PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	8,882.00	0.00	8,882.00	LF	5,550.00	\$0.79	\$4,384.50
		0001	0830	6206108A	MARKING PAINT, TYPE P BEADS  8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	258.00	0.00	258.00	LF	63.00	\$2.25	\$141.75
		0001	0840	6206124A	PAINT, TYPE P BEADS  24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	34.00	0.00	34.00	LF	66.00	\$6.75	\$445.50
		0001	0850	6207001	PAVEMENT MARKING REMOVAL	19,398.00	0.00	19,398.00	LF	4,391.00	\$0.72	\$3,161.52
		0001	0860	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	16.00	0.00	16.00	EA	1.00	\$100.00	\$100.00

Page 10 of 48 Revision 4/1/2020



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191018-D03	J5P3181	0001	0870	6208076	4 IN TEMPORARY PAVEMENT MARKING PAINT	25,477.00	0.00	25,477.00	LF	24,189.50	\$0.79	\$19,109.70
		0001	0880	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	2,654.00	0.00	2,654.00	SQYD	1,768.55	\$12.00	\$21,222.60
		0001	0890	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	2,788.00	1,789.00	4,577.00	SQYD	4,360.90	\$5.00	\$21,804.50
		0001	0900	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	98.50	0.00	98.50	STA	0.00	\$60.00	\$0.00
		0001	0910	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.50	\$79,000.00	\$39,500.00
		0001	0920	7250315A	15 IN. PIPE GROUP B	134.00	0.00	134.00	LF	0.00	\$41.00	\$0.00
		0001	0930	7250318A	18 IN. PIPE GROUP B	268.00	0.00	268.00	LF	268.00	\$55.00	\$14,740.00
		0001	0940	7250324A	24 IN. PIPE GROUP B	40.00	0.00	40.00	LF	0.00	\$95.00	\$0.00
		0001	0950	7250415	15 IN. PIPE GROUP C	210.00	0.00	210.00	LF	0.00	\$27.00	\$0.00
		0001	0960	7250418	18 IN. PIPE GROUP C	501.00	0.00	501.00	LF	500.00	\$35.00	\$17,500.00
		0001	0970	7250424	24 IN. PIPE GROUP C	159.00	0.00	159.00	LF	58.00	\$40.00	\$2,320.00
		0001	0980	7252005	CORRUGATED METALLIC-COATED STEEL PIPE-ARCH TYPE B-5	53.00	0.00	53.00	LF	53.00	\$84.00	\$4,452.00
		0001	0990	7259903	MISC.UTILITY ENCASEMENT	700.00	0.00	700.00	LF	456.00	\$98.00	\$44,688.00
		0001	1000	7261015	15 IN. PIPE GROUP A	56.00	0.00	56.00	LF	0.00	\$41.00	\$0.00
		0001	1010	7261018	18 IN. PIPE GROUP A	305.00	0.00	305.00	LF	112.00	\$51.00	\$5,712.00
		0001	1020	7261024	24 IN. PIPE GROUP A	305.00	0.00	305.00	LF	142.00	\$60.50	\$8,591.00
		0001	1030	7261030	30 IN. PIPE GROUP A	72.00	0.00	72.00	LF	72.00	\$80.00	\$5,760.00
		0001	1040	7261036	36 IN. PIPE GROUP A	366.00	0.00	366.00	LF	366.00	\$98.00	\$35,868.00
		0001	1050	7311022	PRECAST CONCRETE DROP INLET 2 FT X 2 FT	17.00	-2.00	15.00	FT	15.00	\$530.00	\$7,950.00
		0001	1060	7311033	PRECAST CONCRETE DROP INLET 3 FT X 3 FT	11.00	0.00	11.00	FT	8.00	\$560.00	\$4,480.00
		0001	1070	7311042	PRECAST CONCRETE DROP INLET 4 FT X 2 FT	9.00	2.00	11.00	FT	11.00	\$570.00	\$6,270.00
		0001	1080	7311053	PRECAST CONCRETE DROP INLET 5 FT X 3 FT	3.00	0.00	3.00	FT	0.00	\$780.00	\$0.00
		0001	1090	7320015A	15 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$360.00	\$0.00
		0001	1100	7320018A	18 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	5.00	0.00	5.00	EA	5.00	\$380.00	\$1,900.00
		0001	1110	7320615A	15 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$400.00	\$0.00
		0001	1120	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	4.00	0.00	4.00	EA	2.00	\$440.00	\$880.00
		0001	1130	7320624A	24 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	5.00	0.00	5.00	EA	3.00	\$520.00	\$1,560.00
		0001	1140	7320630A	30 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$730.00	\$1,460.00
		0001	1150	7320636A	36 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	4.00	0.00	4.00	EA	4.00	\$1,000.00	\$4,000.00
		0001	1160	7320815A	15 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	8.00	0.00	8.00	EA	0.00	\$360.00	\$0.00
		0001	1170	7320824A	24 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$520.00	\$0.00
		0001	1180	7321005	B5 FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$670.00	\$1,340.00
		0001	1190	8051000A	SEEDING - COOL SEASON MIXTURES	14.20	-5.40	8.80	ACRE	5.50	\$2,050.00	\$11,275.00
		0001	1200	8052000A	SEEDING - WARM SEASON MIXTURES	4.60	5.40	10.00	ACRE	6.96	\$2,250.00	\$15,660.00
		0001	1210	8061001	SEDIMENT BASIN EXCAVATION	7,200.00	0.00	7,200.00	CUYD	857.00	\$0.01	\$8.57
		0001	1220	8061002	SEDIMENT BASIN ROCK	7,200.00	0.00	7,200.00	CUYD	57.70	\$0.01	\$0.58
		0001	1230	8061004	SEDIMENT TRAP ROCK	10.00	0.00	10.00	CUYD	0.00	\$70.00	\$0.00
		0001	1240	8061005	ROCK DITCH CHECK	1,679.00	0.00	1,679.00	LF	1,757.00	\$10.85	\$19,063.45
		0001	1250	8061006	ALTERNATE DITCH CHECK	464.00	0.00	464.00	LF	0.00	\$9.25	\$0.00
		0001	1260	8061007A	CURB INLET CHECK	9.00	0.00	9.00	EA	0.00	\$155.00	\$0.00
		0001	1270	8061010A	TYPE B BERM	1,630.00	0.00	1,630.00	LF	800.00	\$2.00	\$1,600.00
		0001	1280	8061011	SLOPE DRAINS	710.00	0.00	710.00	LF	375.00	\$7.50	\$2,812.50
		0001	1290	8061016	SEDIMENT REMOVAL	245.00	0.00	245.00	CUYD	190.10	\$30.00	\$5,703.00
		0001	1300	8061017	TEMPORARY SEEDING AND MULCHING	5.50	0.00	5.50	ACRE	2.86	\$1,750.00	\$5,005.00

Revision 4/1/2020 Page 11 of 48



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191018-D03	J5P3181	0001	1310	8061019	SILT FENCE	6,365.00	0.00	6,365.00	LF	4,895.00	\$2.20	\$10,769.00
		0001	1320	8061020	TEMPORARY PIPE	430.00	0.00	430.00	LF	335.00	\$66.00	\$22,110.00
		0001	1330	8064128	TYPE 1 TURF REINFORCEMENT MAT	9,764.00	-7,200.00	2,564.00	SQYD	540.00	\$3.10	\$1,674.00
		0001	1340	8064140	TYPE 3B EROSION CONTROL BLANKET	1,838.00	0.00	1,838.00	SQYD	0.00	\$1.95	\$0.00
		0001	1350	8069905	MISC.TIED CONCRETE BLOCK SYSTEM	359.30	0.00	359.30	SQYD	198.00	\$75.00	\$14,850.00
		0003	1370	5021333	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	649.10	0.00	649.10	SQYD	338.88	\$77.00	\$26,093.76
		0005	1390	5021332	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	19,894.50	0.00	19,894.50	SQYD	7,913.89	\$56.00	\$443,177.84
		0007	1410	5021332	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	3,856.10	0.00	3,856.10	SQYD	3,445.33	\$56.00	\$192,938.48
		0009	1430	5021340	TYPE A2 SHOULDER	2,725.70	0.00	2,725.70	SQYD	305.24	\$38.00	\$11,599.12
		0011	1450	5021340	TYPE A2 SHOULDER	154.70	0.00	154.70	SQYD	121.56	\$38.00	\$4,619.28
		0012	1460	6061040	GUARDRAIL TYPE D	50.00	0.00	50.00	LF	25.00	\$25.50	\$637.50
		0012	1470	6061060	MGS GUARDRAIL	11,613.00	0.00	11,613.00	LF	5,587.00	\$19.00	\$106,153.00
		0012	1480	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	6.00	0.00	6.00	EA	3.00	\$2,700.00	\$8,100.00
		0012	1490	6061074	MGS HEIGHT AND BLOCK TRANSITION	1.00	0.00	1.00	EA	0.00	\$800.00	\$0.00
		0012	1500	6061080	MGS END ANCHOR	14.00	0.00	14.00	EA	7.00	\$800.00	\$5,600.00
		0012	1510	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	19.00	0.00	19.00	EA	9.00	\$2,700.00	\$24,300.00
		0020	1520	9011030	LIGHTING POLE, 30 FT. OR 9.0 M, TYPE AT	20.00	0.00	20.00	EA	4.00	\$1,664.00	\$6,656.00
		0020	1530	9011062	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT DESIGN 2	5.00	0.00	5.00	EA	0.00	\$2,700.00	\$0.00
		0020	1540	9011115	BRACKET ARM, 15 FT. OR 4.6 M	25.00	0.00	25.00	EA	4.00	\$546.00	\$2,184.00
		0020	1550	9011311	LUMINAIRE, LED-A	20.00	0.00	20.00	EA	4.00	\$471.00	\$1,884.00
		0020	1560	9011312	LUMINAIRE, LED-B	5.00	0.00	5.00	EA	0.00	\$546.00	\$0.00
		0020	1570	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	3.00	0.00	3.00	EA	0.00	\$6,721.00	\$0.00
		0020	1580	9013002	CONDUIT, 2 IN. RIGID, IN TRENCH	82.00	0.00	82.00	LF	0.00	\$18.00	\$0.00
		0020	1590	9013003	CONDUIT, 3 IN. RIGID, IN TRENCH	617.00	0.00	617.00	LF	259.00	\$18.50	\$4,791.50
		0020	1600	9014003	CONDUIT, 3 IN. RIGID, PUSHED	401.00	0.00	401.00	LF	0.00	\$18.50	\$0.00
		0020	1610	9014004	CONDUIT, 4 IN. RIGID, PUSHED	47.00	0.00	47.00	LF	0.00	\$19.00	\$0.00
		0020	1620	9015010	TRENCHING TYPE I	4,068.00	0.00	4,068.00	LF	524.00	\$3.95	\$2,069.80
		0020	1630	9015020	TRENCHING TYPE II	882.00	0.00	882.00	LF	0.00	\$3.95	\$0.00
		0020	1640	9016110	PULL BOX, PREFORMED CLASS 1	30.00	0.00	30.00	EA	4.00	\$643.00	\$2,572.00
		0020	1650	9017002	CABLE, 2 AWG 1 CONDUCTOR	320.00	0.00	320.00	LF	0.00	\$2.50	\$0.00
		0020	1660	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	2,550.00	0.00	2,550.00	LF	360.00	\$0.50	\$180.00
		0020	1670	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	8,180.00	0.00	8,180.00	LF	690.00	\$2.75	\$1,897.50
		0020	1680	9018230	POLE FOUNDATION (30 FT. OR 9.0 M MOUNTING HEIGHT)	20.00	0.00	20.00	EA	4.00	\$788.00	\$3,152.00
		0020	1690	9018245	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	5.00	0.00	5.00	EA	0.00	\$1,100.00	\$0.00
		0020	1700	9018612	POWER SUPPLY ASSEMBLY, TYPE 2, 240/120 VOLT SERVICE, LIGHTING ONLY	3.00	0.00	3.00	EA	0.00	\$1.00	\$0.00
		0040	1710	9031010	CONCRETE FOOTINGS, EMBEDDED	28.50	0.00	28.50	CUYD	3.11	\$800.00	\$2,488.00
		0040	1720	9031210	STRUCTURAL STEEL POSTS	11,434.00	866.00	12,300.00	LB	569.00	\$3.50	\$1,991.50
		0040	1730	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	22.00	0.00	22.00	EA	8.00	\$315.00	\$2,520.00
		0040	1740	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	32.00	0.00	32.00	EA	0.00	\$125.00	\$0.00
		0040	1750	9031252	7 FT. CHANNEL POST DELINEATOR, DOUBLE STACKED WHITE	11.00	0.00	11.00	EA	0.00	\$45.00	\$0.00
		0040	1760	9031256	7 FT. CHANNEL POST DELINEATOR, WHITE	6.00	0.00	6.00	EA	0.00	\$40.00	\$0.00
		0040	1770	9031257A	7 FT. CHANNEL POST DELINEATOR, YELLOW	4.00	0.00	4.00	EA	0.00	\$40.00	\$0.00
		0040	1780	9031258	7 FT. CHANNEL POST DELINEATOR, WHITE/RED	10.00	0.00	10.00	EA	0.00	\$45.00	\$0.00
		0040	1790	9031259A	7 FT. CHANNEL POST DELINEATOR, YELLOW/RED	6.00	0.00	6.00	EA	0.00	\$45.00	\$0.00
		0040	1800	9031280	2.5 IN. PSST POST - 12 GA.	1,984.00	0.00	1,984.00	LF	432.00	\$10.00	\$4,320.00

Revision 4/1/2020 Page 12 of 48



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q				ased on R	eport Generated date and can differ from the posted am							
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191018-D03	J5P3181	0040	1810	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	372.00	0.00	372.00	LF	81.00	\$50.00	\$4,050.00
		0040	1820	9035004A	SH-FLAT SHEET	862.00	0.00	862.00	SQFT	117.19	\$15.75	\$1,845.71
		0040	1830	9035011A	ST-STRUCTURAL	2,136.00	0.00	2,136.00	SQFT	59.50	\$20.00	\$1,190.00
		0040	1840	9035069A	SHF-FLAT SHEET FLUORESCENT	530.00	0.00	530.00	SQFT	123.75	\$19.25	\$2,382.19
		0056	1850	3109910	MISC.COMPACTED GRANULAR BACKFILL	238.00	0.00	238.00	TONS	238.00	\$8.00	\$1,904.00
		0056	1860	4019905	MISC.ASPHALT PAVEMENT REPAIR	7.00	0.00	7.00	SQYD	7.00	\$240.00	\$1,680.00
		0056	1870	6039901	WATER	1.00	0.00	1.00	LS	1.00	\$6,100.00	\$6,100.00
		0056	1880	6039901	WATER	1.00	0.00	1.00	LS	1.00	\$4,900.00	\$4,900.00
		0056	1890	6039902	WATER	3.00	0.00	3.00	EA	3.00	\$465.00	\$1,395.00
		0056	1900	6039902	WATER	3.00	0.00	3.00	EA	3.00	\$465.00	\$1,395.00
		0056	1910	6039902	WATER	2.00	0.00	2.00	EA	2.00	\$310.00	\$620.00
		0056	1920	6039903	WATER	90.00	0.00	90.00	LF	90.00	\$110.00	\$9,900.00
		0056	1930	6039903	WATER	643.00	0.00	643.00	LF	643.00	\$75.00	\$48,225.00
		0056	1940	6039903	WATER	80.00	0.00	80.00	LF	80.00	\$160.00	\$12,800.00
		0056	1950	6039903	WATER	100.00	0.00	100.00	LF	100.00	\$44.00	\$4,400.00
		0070	1960	2065500	TEMPORARY SHORING	1.00	-1.00	0.00	LS	0.00	\$1.00	\$0.00
		0070	1970	5031010A	BRIDGE APPROACH SLAB (MAJOR ROAD)	179.00	0.00	179.00	SQYD	179.00	\$240.00	\$42,960.00
		0070	1980	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	360.00	-5.00	355.00	LF	355.00	\$59.00	\$20,945.00
		0070	1985	7026000	PRE-BORE FOR PILING	60.00	33.00	93.00	LF	93.00	\$190.00	\$17,670.00
		0070	1990	7027000	PILE POINT REINFORCEMENT	12.00	0.00	12.00	EA	12.00	\$110.00	\$1,320.00
		0070	2000	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	35.20	0.00	35.20	CUYD	35.20	\$800.00	\$28,160.00
		0070	2010	7034213	SLAB ON CONCRETE I-GIRDER	475.00	0.00	475.00	SQYD	475.00	\$410.00	\$194,750.00
		0070	2020	7034219A	TYPE D BARRIER	285.00	0.00	285.00	LF	285.00	\$120.00	\$34,200.00
		0070	2030	7056003	TYPE 6 (54 IN.), PRESTRESSED CONCRETE I-GIRDER	505.00	0.00	505.00	LF	505.00	\$200.00	\$101,000.00
		0070	2040	7071000	CONDUIT SYSTEM ON STRUCTURE	1.00	0.00	1.00	LS	1.00	\$4,669.00	\$4,669.00
		0070	2050	7123301	STEEL INTERMEDIATE DIAPHRAGM FOR P/S CONCRETE GIRDERS	4.00	0.00	4.00	EA	4.00	\$460.00	\$1,840.00
		0070	2060	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$2,150.00	\$4,300.00
		0070	2070	7161000	PLAIN NEOPRENE BEARING PAD	5.00	0.00	5.00	EA	5.00	\$180.00	\$900.00
		0070	2080	7161003	LAMINATED NEOPRENE BEARING PAD (TAPERED)	5.00	0.00	5.00	EA	5.00	\$350.00	\$1,750.00
		0070	2090	7201300	PIPE PILE SPACERS	12.00	-12.00	0.00	EA	0.00	\$1,400.00	\$0.00
		0071	2100	5031010A	BRIDGE APPROACH SLAB (MAJOR ROAD)	179.00	0.00	179.00	SQYD	0.00	\$240.00	\$0.00
		0071	2110	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	360.00	184.00	544.00	LF	544.00	\$59.00	\$32,096.00
		0071	2120	7027000	PILE POINT REINFORCEMENT	12.00	0.00	12.00	EA	12.00	\$110.00	\$1,320.00
		0071	2130	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	35.20	0.00	35.20	CUYD	0.00	\$800.00	\$0.00
		0071	2140	7034213	SLAB ON CONCRETE I-GIRDER	475.00	0.00	475.00	SQYD	0.00	\$410.00	\$0.00
		0071	2150	7034219A	TYPE D BARRIER	285.00	0.00	285.00	LF	0.00	\$120.00	\$0.00
		0071	2151	7026000	PRE-BORE FOR PILING	60.00	27.00	87.00	LF	87.00	\$190.00	\$16,530.00
		0071	2160	7056003	TYPE 6 (54 IN.), PRESTRESSED CONCRETE I-GIRDER	505.00	0.00	505.00	LF	0.00	\$200.00	\$0.00
		0071	2170	7071000	CONDUIT SYSTEM ON STRUCTURE	1.00	0.00	1.00	LS	0.00	\$4,669.00	\$0.00
		0071	2180	7123301	STEEL INTERMEDIATE DIAPHRAGM FOR P/S CONCRETE	4.00	0.00	4.00	EA	0.00	\$460.00	\$0.00
		0071	2190	7151001	GIRDERS VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	0.00	\$2,150.00	\$0.00
		0071	2200	7161000	PLAIN NEOPRENE BEARING PAD	5.00	0.00	5.00	EA	0.00	\$180.00	\$0.00
		0071	2210	7161003	LAMINATED NEOPRENE BEARING PAD (TAPERED)	5.00	0.00	5.00	EA	0.00	\$350.00	\$0.00
		0071	2220	7201300	PIPE PILE SPACERS	12.00	-12.00	0.00	EA	0.00	\$1,400.00	\$0.00
		0072	2230	7110300	CONCRETE AND MASONRY PROTECTION SYSTEM	1.00	0.00	1.00	LS	0.00	\$3,451.78	\$0.00

Revision 4/1/2020 Page 13 of 48



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191018-D03	J5P3181	0072	2250	7201000	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	5,057.00	0.00	5,057.00	SQFT	5,057.00	\$68.00	\$343,876.00
		0073	2260	7110300	CONCRETE AND MASONRY PROTECTION SYSTEM	1.00	0.00	1.00	LS	0.00	\$3,701.60	\$0.00
		0073	2270	7110400	SACRIFICIAL GRAFFITI PROTECTION SYSTEM	1.00	0.00	1.00	LS	0.00	\$3,701.60	\$0.00
		0073	2280	7201000	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	5,423.00	0.00	5,423.00	SQFT	4,338.00	\$68.00	\$294,984.00
		0001	5001	6189901	MISC.Adjust Mobilization for Contract Bond (Payment for Bid Bond)	0.00	1.00	1.00	LS	1.00	\$41,411.00	\$41,411.00
		0001	5002	8069903	MISC.Erosion Control - 9 IN. STRAW WATTLES	0.00	1,300.00	1,300.00	LF	876.00	\$2.63	\$2,303.88
		0001	5003	8069903	MISC.Erosion Control - 12 IN. STRAW WATTLES	0.00	280.00	280.00	LF	280.00	\$4.31	\$1,206.80
		0001	5004	2149907	MISC.MISC. FURNISHING AND PLACING ROCK FILL	0.00	800.00	800.00	CUYD	0.00	\$21.00	\$0.00
	Project J	5P3181 - To	tal Value	Posted to D	Date as of Report Generated Date							\$6,580,323.96
191018-D03 Ove	erall - Total	Value Pos	ted to Da	te as of Repo	ort Generated Date							\$6,580,323.96

Revision 4/1/2020 Page 14 of 48



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J5P3181

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	2022010	REMOVAL OF IMPROVEMENTS	11/17/20	11/25/20	0.30	LS	Median Crossovers					
0080	2063000	CLASS 3 EXCAVATION	11/20/20	11/25/20	37.00	CUYD	NW Leg RB #1 Entrance Pipe					P-18 55' x 4.5' x 4' / 27 = 36.67 CY
0110	2099905	MISC. SUBGRADE PREPERATION	11/17/20	11/25/20	51.70	SQYD	South Side Bridge 8807					15ftx30ft/9 = 51.67SY
				11/25/20	91.67	SQYD	North Side Bridge 8807					15ftx55ft/9 = 91.67 SY
0350	6096020	FURN. TYPE 2 ROCK DITCH LINER	11/20/20	11/25/20	7.60	CUYD	Willmore Ln. Rt. End of Gutter					
0380	6096042	PLACING TYPE 2 ROCK DITCH LINER	11/20/20	11/25/20	7.60	CUYD	Willmore Ln. Rt. End of Gutter					
0890	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	11/20/20	11/25/20	31.50	SQYD	Willmore Ln Rt. End of Gutter					
0980	7252005	CORRUGATED STEEL PIPE-ARCH B-5	11/20/20	11/25/20	53.00	LF	RB #1 NW Leg Entrance					P-18
1180	7321005	B5 FLARED END SECTION	11/20/20	11/25/20	2.00	EA	RB #1 NW Leg Entrance					P-18
1240	8061005	ROCK DITCH CHECK	11/18/20	11/30/20	21.00	LF	Rte. 54 Median Sta. 631+80	631+80				
			11/20/20	11/30/20	27.00	LF	Connector Rd Sta. 4+00 RT	4+00	Rt.			
1310	8061019	SILT FENCE	11/17/20	11/30/20	130.00	LF	New Willmore Lane along the Curb and Gutter Sta. 6+00 to 7+00	6+00	Rt.	7+00		
				11/30/20	210.00	LF	Bagnell Dam Blvd. and Roundabout #1	0		2+00		
				11/30/20	285.00	LF	Roundabout #2 Sta 649+00	649+00				
2110	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN	11/30/20	12/1/20	184.00	LF	Bridge A8807					24.5 (25 LF A8807, Pile No. 1 24.83 (25 LF A8807, Pile No. 2 25.33 (25 LF A8807, Pile No. 3 26.0 (26 LF A8807, Pile No. 4 30.67 (31 LF A8807, Pile No. 5 40.92 (41 LF A8807, Pile No. 6 83 (83 LF A8807, Pile No. 7 60.25 (85 LF A8807, Pile No. 9 70 (70 LF A8807, Pile No. 19 30.83 (31 LF A8807, Pile No. 19 29 (29) LF A8807, Pile No. 10 29 (29) LF A8807, Pile No. 12 8 LF Additional Spilice Pile No. 6 (2 Each @ 6 per Ea.) 16 LF Additional Spilice Pile No. 7 (3 Each @ 6 per Ea.) 16 LF Additional Spilice Pile No. 7 (8 Each @ 6 per Ea.) 16 LF Additional Spilice Pile No. 7 (9 Each @ 6 per Ea.)
2250	7201000	MECHANICALLY STABILIZED EARTH WALL SYS	12/1/20	12/1/20	2,529.00	SQFT	Bridge 8807					
2280	7201000	MECHANICALLY STABILIZED EARTH WALL SYS	12/1/20	12/1/20	1,628.00	SQFT	Bridge 8807					

The information below this line are details from Line Item agency views. No Agency View Details Exist

Revision 4/1/2020 Page 15 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0040	UNCLASSIFIED EXCAVATION	Other Item Adjustment	FUEL	6	May 5, 2020	graesj1	(\$1,289.34)	Estimate 4, 7,540 C.Y. F.U.F. 0.3 Diff\$0.57 = -\$12,89.34
				6	May 5, 2020	graesj1	(\$1,906.08)	Estimate 5, 7220.0 C.Y. F.U.F. 0.3 Diff\$0.88 = -\$1906.08
				6	May 5, 2020	graesj1	(\$79.20)	Estimate 6, 300 C.Y. F.U.F. 0.3 Diff\$0.88 = -\$79.20
			FUEL - Tota	d			(\$3,274.62)	
	Other Item Adjustment - Total						(\$3,274.62)	
	UNCLASSIFIED EXCAVATION	Price		7	May 18, 2020	SYSTEM	(\$785.53)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				9	Jun 16, 2020	SYSTEM	(\$1,336.22)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				10	Jul 1, 2020	SYSTEM	(\$9,138.86)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				11	Jul 16, 2020	SYSTEM	(\$4,686.88)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				12	Aug 4, 2020	SYSTEM	(\$898.88)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				14	Sep 2, 2020	SYSTEM	(\$1,277.10)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				15	Sep 16, 2020	SYSTEM	(\$649.89)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				16	Oct 1, 2020	SYSTEM	(\$286.35)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				17	Oct 19, 2020	SYSTEM	(\$181.56)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				18	Nov 2, 2020	SYSTEM	(\$2,319.70)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				19	Nov 16, 2020	SYSTEM	(\$2,760.34)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$24,321.31)	
	Price - Total						(\$24,321.31)	
0040 -	·Total						(\$27,595.93)	
0050	EMBANKMENT IN PLACE	Material		20	Dec 1, 2020	SYSTEM	(\$507,790.80)	
				20	Dec 2, 2020	SYSTEM	\$507,790.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	EMBANKMENT IN PLACE	Other Item Adjustment	FUEL		May 5, 2020	graesj1	(\$8,494.64)	Estimate 5, 27,580 C.Y. FUF 0.35 Diff\$0.88 = -\$8,494.64
				6	May 5, 2020	graesj1	(\$1,197.50)	Estimate 6, 3888 C.Y. F.U.F. 0.35 Diff\$0.88 = -\$1197.50
			FUEL - Tota	1			(\$9,692.14)	
	Other Item Adjustment - Total					271=	(\$9,692.14)	
	EMBANKMENT IN PLACE	Price		7	May 18, 2020	SYSTEM	(\$7,014.00)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				8	Jun 2, 2020	SYSTEM	(\$7,737.35)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				9	Jun 16, 2020	SYSTEM	(\$1,636.36)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				9	Jun 16, 2020	SYSTEM	(\$2,496.50)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$18,884.21)	
	Price - Total						(\$18,884.21)	
0050 -	Total					0)/2==:	(\$28,576.35)	
				4	Apr 2,	SYSTEM	(\$11,219.52)	
0060	COMPACTING EMBANKMENT	Material		4	2020 Apr 2,	SYSTEM	\$11,219.52	This adjustment offsets the original system-generated Overrun

Revision 4/1/2020 Page 16 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0060	COMPACTING EMBANKMENT	Material						Estimate.
				20	Dec 1, 2020	SYSTEM	(\$105,046.16)	
				20	Dec 2, 2020	SYSTEM	\$105,046.16	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user graesj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0060 -	Total						\$0.00	
0070	COMPACTING IN CUT	Material		20	Dec 1, 2020	SYSTEM	(\$9,701.15)	
				20	Dec 2, 2020	SYSTEM	\$9,701.15	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user graesj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0070 -	Total						\$0.00	
0100		Material		20	Dec 1, 2020	SYSTEM	(\$2,287.50)	
				20	Dec 2, 2020	SYSTEM	\$2,287.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user graesj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	INTERCEPTION DITCH	Overrun	Overrun	9	Jun 16, 2020	SYSTEM	(\$1,162.50)	
				10	Jul 1, 2020	SYSTEM	\$1,162.50	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',375.00000 - 375.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0100 -	Total						\$0.00	
0150	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Other Item Adjustment	FUEL	6	May 4, 2020	graesj1	(\$304.01)	2303.12 S.Y. F.U.F. 0.15 Diff\$0.88 = -\$304.01
			FUEL - Tota	ıl			(\$304.01)	
	Other Item Adjustment - Total						(\$304.01)	
	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Price		8	Jun 2, 2020	SYSTEM	(\$323.13)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				9	Jun 16, 2020	SYSTEM	(\$74.74)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				14	Sep 2, 2020	SYSTEM	(\$10.07)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$407.94)	
	Price - Total						(\$407.94)	
0150 -	Total						(\$711.95)	
0160	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		17	Oct 19, 2020	SYSTEM	(\$10,822.01)	
				17	Oct 19, 2020	SYSTEM	\$10,822.01	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$10,822.01)	
				18	Nov 2, 2020	SYSTEM	\$10,822.01	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$10,822.01)	
				19	Nov 16,	SYSTEM	\$10,822.01	This adjustment offsets the original system-generated Overrun

Revision 4/1/2020 Page 17 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0160	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			2020			Payment Estimate Item Adjustment (0008) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				20	Dec 1, 2020	SYSTEM	(\$10,822.01)	
				20	Dec 2, 2020	SYSTEM	\$10,822.01	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Other Item Adjustment	FUEL	6	May 4, 2020	graesj1	(\$520.84)	2573.3 S.Y. F.U.F. 0.23 Diff \$0.88 = -\$520.84
				8	Jun 2, 2020	graesj1	(\$1,253.91)	4505.6 SY FUF 0.23 Diff1.21 =
			FUEL - Tota				(\$1,774.75)	
	Other Item Adjustment - Total						(\$1,774.75)	
	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Price		11	Jul 16, 2020	SYSTEM	(\$623.45)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				14	Sep 2, 2020	SYSTEM	(\$28.19)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				14	Sep 2, 2020	SYSTEM	(\$1,035.78)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				15	Sep 16, 2020	SYSTEM	(\$19.09)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				16	Oct 1, 2020	SYSTEM	(\$440.27)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				17	Oct 19, 2020	SYSTEM	(\$588.39)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$2,735.17)	
	Price - Total						(\$2,735.17)	
0160 -	- Total						(\$4,509.92)	
0180	TYPE A2 SHOULDER	Other Item Adjustment	ACAD	17	Oct 19, 2020	graesj1	(\$47.42)	Estimate 17 SP 190 Diff= -80 70.9 SY @ 4 in. 3.8% AC
				17	Oct 19, 2020	graesj1	(\$21.29)	Estimate 17 SP 125 Diff= -80 70.9 SY @ 1.75 inch 3.9% AC
			ACAD - Tota	al			(\$68.71)	
	TYPE A2 SHOULDER		FUEL	17	Oct 19, 2020	graesj1	(\$66.25)	Estimate 17 F.U.F. = 1.04995 Diff. = -0.89 70.9 Ton * -0.89 * 1.04995 = -\$66.252
			FUEL - Tota	I			(\$66.25)	
	Other Item Adjustment - Total						(\$134.96)	
0180 -	- Total						(\$134.96)	
0200	MISC. OPTIONAL PAVEMENT - 7 IN. HMA OR 7 IN. PCCP	Other Item Adjustment	ACAD	8	Jun 2, 2020	graesj1	(\$2,464.28)	SP 190 20-63A 3062.55 S.Y. AC 3.8% Index Diff.= -55
				8	Jun 2, 2020	graesj1	(\$843.08)	SP 125 20-55A 1020.9 S.Y. AC 3.9% Index Diff.= -55
				14	Sep 2, 2020	graesj1	(\$93.81)	Estimate 14 Index Diff. = -80 SP125 20/55 78.1 SY 7" thick 3.9% AC = -\$93.81
			ACAD - Tota				(\$3,401.17)	
					I 0		(00.045.50)	
	MISC. OPTIONAL PAVEMENT - 7 IN. HMA OR 7 IN. PCCP		FUEL		Jun 2, 2020	graesj1	(\$6,315.56)	4083.45 SY / 1572.13 Ton FUF 3.32 Diff1.21 =
				14		graesj1 graesj1	(\$85.86)	4083.45 SY / 1572.13 Ton FUF 3.32 Diff1.21 =  Estimate 14 Index Diff= -0.86 F.U.F.= 3.23 78.1SY/30.07 Ton = -\$85.86
			FUEL - Tota	14	2020 Sep 2,			Estimate 14 Index Diff= -0.86 F.U.F.= 3.23
				14 I	2020 Sep 2,		(\$85.86)	Estimate 14 Index Diff= -0.86 F.U.F.= 3.23
	HMA OR 7 IN. PCCP  MISC. OPTIONAL PAVEMENT - 7 IN.		FUEL - Tota	14 I 10	2020 Sep 2, 2020 Jul 1,	graesj1	(\$85.86) (\$6,401.42)	Estimate 14 Index Diff= -0.86 F.U.F.= 3.23 78.1SY/30.07 Ton = -\$85.86  Density results of 89.3% for the SP125 placed on May 29,2020 for EB & WB temporary bypasses. (2.75"/7")*(4,083.45 SY) = 1,604.21 SY @\$50.00 per SY = \$80,210.50
	HMA OR 7 IN. PCCP  MISC. OPTIONAL PAVEMENT - 7 IN.		FUEL - Tota SUBI	14 I 10	2020 Sep 2, 2020 Jul 1,	graesj1	(\$85.86) (\$6,401.42) (\$12,031.58)	Estimate 14 Index Diff= -0.86 F.U.F.= 3.23 78.1SY/30.07 Ton = -\$85.86  Density results of 89.3% for the SP125 placed on May 29,2020 for EB & WB temporary bypasses. (2.75"/7")*(4,083.45 SY) = 1,604.21 SY @\$50.00 per SY = \$80,210.50
0200 -	HMA OR 7 IN. PCCP  MISC. OPTIONAL PAVEMENT - 7 IN. HMA OR 7 IN. PCCP  Other Item Adjustment - Total		FUEL - Tota SUBI	14 I 10	2020 Sep 2, 2020 Jul 1,	graesj1	(\$85.86) (\$6,401.42) (\$12,031.58)	Estimate 14 Index Diff= -0.86 F.U.F.= 3.23 78.1SY/30.07 Ton = -\$85.86  Density results of 89.3% for the SP125 placed on May 29,2020 for EB & WB temporary bypasses. (2.75"/7")*(4,083.45 SY) = 1,604.21 SY @\$50.00 per SY = \$80,210.50

Revision 4/1/2020 Page 18 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0210	PG 70-22 (SP125C MIX)	Adjustment	ACAD		2020			85.16 Tons 3.9% AC = -\$265.70
				17	Oct 19, 2020	graesj1	(\$5,265.34)	Estimate 17 SP-125 AC Diff. = -80 1687.61 Ton @ 3.9% AC
				17	Oct 19, 2020	graesj1	(\$115.37)	Estimate 17 SP 190 Diff = -80 37.95 Ton @ 3.8% AC
				18	Nov 2, 2020	graesj1	(\$749.03)	Estimate 18 Index Diff. = -80 246.39 Ton 3.8% AC Work Performed on 1st Period of October
			ACAD - Tota	al			(\$6,395.44)	
	Other Item Adjustment - Total						(\$6,395.44)	
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Price		14	Sep 2, 2020	SYSTEM	(\$243.15)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				17	Oct 19, 2020	SYSTEM	(\$5,098.68)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				18	Nov 2, 2020	SYSTEM	(\$728.03)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$6,069.86)	
	Price - Total						(\$6,069.86)	
0210 -	Total						(\$12,465.30)	
0220	10 INCHES, ASPHALTIC CONCRETE PAVEMENT SP125C	Other Item Adjustment	ACAD	14	Sep 2, 2020	graesj1	(\$257.43)	Estimate 14 Index Diff. = -80 SP190 20/63 153.26 SY 8.25" thick 3.8% AC = -\$211.41 153.26 SY 1.75" thick 3.9% AC = -\$46.02
				17	Oct 19, 2020	graesj1	(\$880.40)	Estimate 17 SP 190 AC Diff. = -80 638.25 SY @ 8.25 in. 3.8% AC
				17	Oct 19, 2020	graesj1	(\$191.67)	Estimate 17 SP 125 Diff80 638.25 @ 1.75 in. 3.8% AC
			ACAD - Tota	al			(\$1,329.50)	
	Other Item Adjustment - Total						(\$1,329.50)	
	10 INCHES, ASPHALTIC CONCRETE PAVEMENT SP125C	Price		14	Sep 2, 2020	SYSTEM	(\$240.67)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				17	Oct 19, 2020	SYSTEM	(\$1,037.25)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$1,277.92)	
	Price - Total						(\$1,277.92)	
0220 -							(\$2,607.42)	
0230	13 INCHES, ASPHALTIC CONCRETE PAVEMENT SP125C	Other Item Adjustment	ACAD		Jun 2, 2020	graesj1	(\$4,272.35)	SP 190 20-63A 2859 S.Y. AC 3.8% Index Diff.= -55
				8	Jun 2, 2020	graesj1	(\$1,554.12)	SP 190 20-63 1040 S.Y. AC 3.8% Index Diff.= -55
				17	Oct 19, 2020	graesj1	(\$1,353.20)	Estimate 17 SP 125 Diff. = -80 606.6 SY @ 13 in. 3.9% AC
			ACAD - Tota	al			(\$7,179.67)	
	13 INCHES, ASPHALTIC CONCRETE PAVEMENT SP125C		SUBI	10	Jul 1, 2020	graesj1	(\$19,495.31)	Density test results of 90.3% for the SP190 PG70-22 placed on May 21, 2020 median widening on US 54. (3"/13")"(4505.6 SY) = 1039.75 SY @\$75 per SY = \$77,981.25 @ 25% = \$19,495.31
			SUBI - Tota				(\$19,495.31)	
	Other Item Adjustment - Total						(\$26,674.98)	
	13 INCHES, ASPHALTIC CONCRETE PAVEMENT SP125C	Price		8	Jun 2, 2020	SYSTEM	(\$11,199.10)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				17	Oct 19, 2020	SYSTEM	(\$1,281.55)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$12,480.65)	
	Price - Total						(\$12,480.65)	
0230 -	Total						(\$39,155.63)	
0250	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material		15	Sep 16, 2020	SYSTEM	(\$49,148.80)	
				15	Sep 16, 2020	SYSTEM	\$49,148.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				16	Oct 1,	SYSTEM	(\$98,296.00)	

Revision 4/1/2020 Page 19 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0250	CONCRETE PAVEMENT (8 1/2 IN.	Material			2020			
	NON-REINFORCED, 15 FT. JOINTS)			16	Oct 1, 2020	SYSTEM	\$98,296.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				17	Oct 19, 2020	SYSTEM	(\$98,296.00)	
				17	Oct 19, 2020	SYSTEM	\$98,296.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) due to user graesj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$98,296.00)	
				18	Nov 2, 2020	SYSTEM	\$98,296.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user graesj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$98,296.00)	
				19	Nov 16, 2020	SYSTEM	\$98,296.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user graesj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				20	Dec 1, 2020	SYSTEM	(\$98,296.00)	
				20	Dec 2, 2020	SYSTEM	\$98,296.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user graesj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Price		15	Sep 16, 2020	SYSTEM	(\$336.55)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				16	Oct 1, 2020	SYSTEM	(\$336.54)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$673.09)	
	Price - Total						(\$673.09)	
	·Total						(\$673.09)	
0260	CONCRETE APPROACH PAVEMENT	Material		17	Oct 19, 2020	SYSTEM	(\$22,143.00)	
				17	Oct 19, 2020	SYSTEM	\$22,143.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0023) due to user graesj1 overridding Payment Estimate Exception 25 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$22,143.00)	
				18	Nov 2, 2020	SYSTEM	\$22,143.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user graesj1 overridding Payment Estimate Exception 22 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$22,143.00)	
				19	Nov 16, 2020	SYSTEM	\$22,143.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user graesj1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
				20	Dec 1, 2020	SYSTEM	(\$22,143.00)	
				20	Dec 2, 2020	SYSTEM	\$22,143.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user graesj1 overridding Payment Estimate Exception 25 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	· Total						\$0.00	
0270	6 IN. CONCRETE MEDIAN STRIP	Material		16	Oct 1, 2020	SYSTEM	(\$13,422.50)	

Revision 4/1/2020 Page 20 of 48



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
0	2000	Туре	Adjustment Type	Number	Date	By	valit	
0270	6 IN. CONCRETE MEDIAN STRIP	Material		16	Oct 1, 2020	SYSTEM	\$13,422.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user graesj1 overridding Payment Estimate Exception 22 on the current Payment Estimate.
				17	Oct 19, 2020	SYSTEM	(\$13,422.50)	
				17	Oct 19, 2020	SYSTEM	\$13,422.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0024) due to user graesj1 overridding Payment Estimate Exception 33 on the current Payment Estimate.
			- Total				\$0.00	
0070	Material - Total						\$0.00	
0270 -		Material		45	Com 16	CVCTEM	\$0.00	
0290	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	Material		15	Sep 16, 2020	SYSTEM	(\$9,825.60)	
				15	Sep 16, 2020	SYSTEM	\$9,825.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user graesj1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
				16	Oct 1, 2020	SYSTEM	(\$19,651.20)	
				16	Oct 1, 2020	SYSTEM	\$19,651.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user graesj1 overridding Payment Estimate Exception 24 on the current Payment Estimate.
				17	Oct 19, 2020	SYSTEM	(\$20,230.80)	
				17	Oct 19, 2020	SYSTEM	\$20,230.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user graesj1 overridding Payment Estimate Exception 35 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$20,230.80)	
				18	Nov 2, 2020	SYSTEM	\$20,230.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user graesj1 overridding Payment Estimate Exception 28 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$20,230.80)	
				19	Nov 16, 2020	SYSTEM	\$20,230.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user graesj1 overridding Payment Estimate Exception 29 on the current Payment Estimate.
				20	Dec 1, 2020	SYSTEM	(\$20,230.80)	
				20	Dec 2, 2020	SYSTEM	\$20,230.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user graesj1 overridding Payment Estimate Exception 30 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0290 - 0300	Total  CONCRETE GUTTER TYPE B	Material		19	Nov 16,	SYSTEM	\$0.00 (\$3,240.00)	
0300	CONCRETE GUITER TIPE B	iviaterial			2020		,	This adjustment offsets the said and sustain
				19	Nov 16, 2020	SYSTEM	\$3,240.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user graesj1 overridding Payment Estimate Exception 30 on the current Payment Estimate.
				20	Dec 1, 2020	SYSTEM	(\$3,240.00)	
				20	Dec 2, 2020	SYSTEM	\$3,240.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user graesj1 overridding Payment Estimate Exception 31 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0300 -							\$0.00	
0320	INTEGRAL CURB (6 IN. HEIGHT	Material		17	Oct 19,	SYSTEM	(\$1,627.60)	

Revision 4/1/2020 Page 21 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0320	AND UNDER) TYPE A	Material			2020			
				17	Oct 19, 2020	SYSTEM	\$1,627.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0026) due to user graesj1 overridding Payment Estimate Exception 39 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0320 -	Total						\$0.00	
0330	DRAIN BASIN	Material		16	Oct 1, 2020	SYSTEM	(\$8,600.00)	
				16	Oct 1, 2020	SYSTEM	\$8,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user graesj1 overridding Payment Estimate Exception 27 on the current Payment Estimate.
				17	Oct 19, 2020	SYSTEM	(\$8,600.00)	
				17	Oct 19, 2020	SYSTEM	\$8,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0033) due to user graesj1 overridding Payment Estimate Exception 40 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$8,600.00)	
				18	Nov 2, 2020	SYSTEM	\$8,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user graesj1 overridding Payment Estimate Exception 29 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$8,600.00)	
				19	Nov 16, 2020	SYSTEM	\$8,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user graesj1 overridding Payment Estimate Exception 33 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0330 -	Total						\$0.00	
0350	FURNISHING TYPE 2 ROCK DITCH LINER	Material		9	Jun 16, 2020	SYSTEM	(\$843.00)	
				9	Jun 16, 2020	SYSTEM	\$843.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0029) due to user graesj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	FURNISHING TYPE 2 ROCK DITCH LINER	Overrun	Overrun	11	Jul 16, 2020	SYSTEM	(\$723.00)	
				18	Nov 2, 2020	SYSTEM	\$723.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',30.00000 - 30.00000,' is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0350 -	Total						\$0.00	
0380	PLACING TYPE 2 ROCK DITCH LINER	Overrun	Overrun	11	Jul 16, 2020	SYSTEM	(\$747.10)	
				18	Nov 2, 2020	SYSTEM	\$747.10	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',31.00000 - 31.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0380 -	Total						\$0.00	
0400	BEDDING MATERIAL FOR ROCK DITCH LINER	Overrun	Overrun	13	Aug 17, 2020	SYSTEM	(\$2,068.00)	
				16	Oct 1, 2020	SYSTEM	\$2,068.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of
								',47.00000 - 47.00000, 'is applied (if non-zero).

Revision 4/1/2020 Page 22 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks																						
0400	Overrun - Total						\$0.00																							
0400 -	Total						\$0.00																							
0410	ROCK LINING	Material		11	Jul 16, 2020	SYSTEM	(\$420.00)																							
				11	Jul 16, 2020	SYSTEM	\$420.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user graesj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.																						
			- Total				\$0.00																							
	Material - Total						\$0.00																							
0410 -	Total						\$0.00																							
0420	MISC. MODIFIED CONCRETE CURB (6 IN. HEIGHT) TYPE S	Material		7	May 18, 2020	SYSTEM	(\$23,800.00)																							
				7	May 18, 2020	SYSTEM	\$23,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user graesj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.																						
							8	Jun 2, 2020	SYSTEM	(\$23,800.00)																				
					8	Jun 2, 2020	SYSTEM	\$23,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user graesj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.																					
								9	Jun 16, 2020	SYSTEM	(\$23,800.00)																			
				9	Jun 16, 2020	SYSTEM	\$23,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0030) due to user graesj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.																						
						10	Jul 1, 2020	SYSTEM	(\$23,800.00)																					
				10	Jul 1, 2020	SYSTEM	\$23,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) due to user morgat overridding Payment Estimate Exception 6 on the current Payment Estimate.																						
				11	Jul 16, 2020	SYSTEM	(\$23,800.00)																							
				11	Jul 16, 2020	SYSTEM	\$23,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user graesj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.																						
				12	Aug 4, 2020	SYSTEM	(\$23,800.00)																							
										12	Aug 4, 2020	SYSTEM	\$23,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user graesj1 overridding Payment Estimate Exception 11 on the current Payment Estimate.																
				13	Aug 17, 2020	SYSTEM	(\$23,800.00)																							
																										13	Aug 17, 2020	SYSTEM	\$23,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0031) due to user graesj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
																			14	Sep 2, 2020	SYSTEM	(\$23,800.00)								
																						14	Sep 2, 2020	SYSTEM	\$23,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0043) due to user graesj1 overridding Payment Estimate Exception 16 on the current Payment Estimate.				
				15	Sep 16, 2020	SYSTEM	(\$23,800.00)																							
																					15	Sep 16, 2020	SYSTEM	\$23,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user graesj1 overridding Payment Estimate Exception 25 on the current Payment Estimate.					
								16	Oct 1, 2020	SYSTEM	(\$23,800.00)																			
				16	Oct 1, 2020	SYSTEM	\$23,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user graesj1																						

Revision 4/1/2020 Page 23 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
0420	MISC. MODIFIED CONCRETE CURB (6 IN. HEIGHT) TYPE S	Material						overridding Payment Estimate Exception 30 on the current Payment Estimate.	
				17	Oct 19, 2020	SYSTEM	(\$23,800.00)		
				17	Oct 19, 2020	SYSTEM	\$23,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0027) due to user graesj1 overridding Payment Estimate Exception 43 on the current Payment Estimate.	
				18	Nov 2, 2020	SYSTEM	(\$23,800.00)		
				18	Nov 2, 2020	SYSTEM	\$23,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user graesj1 overridding Payment Estimate Exception 30 on the current Payment Estimate.	
				19	Nov 16, 2020	SYSTEM	(\$23,800.00)		
				19	Nov 16, 2020	SYSTEM	\$23,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user graesj1 overridding Payment Estimate Exception 34 on the current Payment Estimate.	
				20	Dec 1, 2020	SYSTEM	(\$23,800.00)		
				20	Dec 2, 2020	SYSTEM	\$23,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.	
			- Total				\$0.00		
	Material - Total						\$0.00		
0420 -	· Total						\$0.00		
0430	MISC. MODIFIED CONCRETE GUTTER TYPE A	Material		13	Aug 17, 2020	SYSTEM	(\$5,865.00)		
				13	Aug 17, 2020	SYSTEM	\$5,865.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0032) due to user graesj1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	
				14	Sep 2, 2020	SYSTEM	(\$5,865.00)		
				14	Sep 2, 2020	SYSTEM	\$5,865.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0044) due to user graesj1 overridding Payment Estimate Exception 11 on the current Payment Estimate.	
				15	Sep 16, 2020	SYSTEM	(\$5,865.00)		
				15	Sep 16, 2020	SYSTEM	\$5,865.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user graesj1 overridding Payment Estimate Exception 22 on the current Payment Estimate.	
				16	Oct 1, 2020	SYSTEM	(\$5,865.00)		
				16	Oct 1, 2020	SYSTEM	\$5,865.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user graesj1 overridding Payment Estimate Exception 31 on the current Payment Estimate.	
				17	Oct 19, 2020	SYSTEM	(\$5,865.00)		
				17	Oct 19, 2020	SYSTEM	\$5,865.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0028) due to user graesj1 overridding Payment Estimate Exception 44 on the current Payment Estimate.	
				18	Nov 2, 2020	SYSTEM	(\$5,865.00)		
					18	Nov 2, 2020	SYSTEM	\$5,865.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user graesj1 overridding Payment Estimate Exception 31 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$5,865.00)		
				19	Nov 16, 2020	SYSTEM	\$5,865.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 35 on the current Payment	

Revision 4/1/2020 Page 24 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0430	MISC. MODIFIED CONCRETE	Material						Estimate.
	GUTTER TYPE A			20	Dec 1, 2020	SYSTEM	(\$5,865.00)	
				20	Dec 2, 2020	SYSTEM	\$5,865.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user graesj1 overridding Payment Estimate Exception 34 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	Total						\$0.00	
0440	MISC. MODIFIED CURB AND GUTTER TYPE B	Material		12	Aug 4, 2020	SYSTEM	(\$8,358.00)	
				12	Aug 4, 2020	SYSTEM	\$8,358.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user graesj1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
				13	Aug 17, 2020	SYSTEM	(\$18,606.00)	
				13	Aug 17, 2020	SYSTEM	\$18,606.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0033) due to user graesj1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				14	Sep 2, 2020	SYSTEM	(\$21,315.00)	
				14	Sep 2, 2020	SYSTEM	\$21,315.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0045) due to user graesj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
				15	Sep 16, 2020	SYSTEM	(\$35,042.70)	
				15	Sep 16, 2020	SYSTEM	\$35,042.70	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user graesj1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
				16	Oct 1, 2020	SYSTEM	(\$35,042.70)	
				16	Oct 1, 2020	SYSTEM	\$35,042.70	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user graesj1 overridding Payment Estimate Exception 28 on the current Payment Estimate.
				17	Oct 19, 2020	SYSTEM	(\$36,817.20)	
				17	Oct 19, 2020	SYSTEM	\$36,817.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0029) due to user graesj1 overridding Payment Estimate Exception 41 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	Total	0	0	44	0 0	OVOTEL	\$0.00	
0540	CONSTRUCTION SIGNS	Overrun	Overrun	14	Sep 2, 2020	SYSTEM	(\$1,806.40) \$1,806.40	Unit price based on averaged overrun adjustments for installed
				10	2020	JIJIEW	ψ1,000.40	quantity on all previous payment estimates. Price Adjustments of ',8.00000 - 8.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
	Total						\$0.00	
0575	CHANNELIZER (TRIM LINE)	Overrun	Overrun		May 18, 2020	SYSTEM	(\$2,000.00)	
				10	Jul 1, 2020	SYSTEM	\$2,000.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',20.00000 - 20.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0575 -	Total						\$0.00	
0660	TEMPORARY TRAFFIC BARRIER,	Material		9	Jun 16,	SYSTEM	(\$22,618.50)	

Revision 4/1/2020 Page 25 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0660	CONTRACTOR FURNISHED /	Material			2020			
	RETAINED			9	Jun 16, 2020	SYSTEM	\$22,618.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0031) due to user graesj1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	Overrun	Overrun		Jul 16, 2020	SYSTEM	(\$8,389.50)	
				14	Sep 2, 2020	SYSTEM	(\$5,610.00)	
				16	Oct 1, 2020	SYSTEM	\$8,389.50	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',25.50000 - 25.50000, 'is applied (if non-zero).
			Overrun - Total				(\$5,610.00)	
	Overrun - Total						(\$5,610.00)	
0660 -	Total						(\$5,610.00)	
0670	TEMPORARY TRAFFIC BARRIER HEIGHT TRANSITION	Material		9	Jun 16, 2020	SYSTEM	(\$750.00)	
				9	Jun 16, 2020	SYSTEM	\$750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0032) due to user graesj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	TEMPORARY TRAFFIC BARRIER HEIGHT TRANSITION	Overrun	Overrun		Sep 2, 2020	SYSTEM	(\$1,500.00)	
			Overrun - T	otal			(\$1,500.00)	
	Overrun - Total						(\$1,500.00)	
0670 -							(\$1,500.00)	
0730	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material		9	Jun 16, 2020	SYSTEM	(\$300.00)	
	Auten			9	Jun 16, 2020	SYSTEM	\$300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0033) due to user graesj1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				10	Jul 1, 2020	SYSTEM	(\$300.00)	
				10	Jul 1, 2020	SYSTEM	\$300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0023) due to user morgat overridding Payment Estimate Exception 7 on the current Payment Estimate.
				11	Jul 16, 2020	SYSTEM	(\$300.00)	
				11	Jul 16, 2020	SYSTEM	\$300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				12	Aug 4, 2020	SYSTEM	(\$300.00)	
				12	Aug 4, 2020	SYSTEM	\$300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user graesj1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
				13	Aug 17, 2020	SYSTEM	(\$300.00)	
				13	Aug 17, 2020	SYSTEM	\$300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0034) due to user graesj1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
				14	Sep 2, 2020	SYSTEM	(\$300.00)	
				14	Sep 2, 2020	SYSTEM	\$300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0046) due to user graesj1 overridding Payment Estimate Exception 17 on the current Payment Estimate.

Revision 4/1/2020 Page 26 of 48



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
LIIIO	Description	Туре	Adjustment Type	Number	Date	Ву	7 tilloulit	Nomarie
0730	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT	Material		15	Sep 16, 2020	SYSTEM	(\$300.00)	
	ARROW			15	Sep 16, 2020	SYSTEM	\$300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 26 on the current Payment Estimate.
				16	Oct 1, 2020	SYSTEM	(\$300.00)	
				16	Oct 1, 2020	SYSTEM	\$300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user graesj1 overridding Payment Estimate Exception 34 on the current Payment Estimate.
				17	Oct 19, 2020	SYSTEM	(\$600.00)	
				17	Oct 19, 2020	SYSTEM	\$600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0034) due to user graesj1 overridding Payment Estimate Exception 47 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0730 -	Total						\$0.00	
0740	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT	Material		17	Oct 19, 2020	SYSTEM	(\$300.00)	
	ARROW			17	Oct 19, 2020	SYSTEM	\$300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0035) due to user graesj1 overridding Payment Estimate Exception 48 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0740 -	Total						\$0.00	
0750	PAVEMENT MARKING, 12 IN	Material		17	Oct 19, 2020	SYSTEM	(\$1,612.50)	
	WHITE, YIELD LINE TRIANGLES			17	Oct 19, 2020	SYSTEM	\$1,612.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0036) due to user graesj 1 overridding Payment Estimate Exception 49 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0750 -	Total						\$0.00	
0760	PREFORMED THERMOPLASTIC PAVEMENT MARKING,	Material		17	Oct 19, 2020	SYSTEM	(\$4,500.00)	
	COMBINATION STR/LT/RT FISH HOOK ARROW			17	Oct 19, 2020	SYSTEM	\$4,500.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0037) due to user graesj1 overridding Payment Estimate Exception 50 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0760 -	Total						\$0.00	
0830	8 IN. WHITE STANDARD WATERBORNE PAVEMENT	Material		17	Oct 19, 2020	SYSTEM	(\$141.75)	
	MARKING PAINT, TYPE P BEADS			17	Oct 19, 2020	SYSTEM	\$141.75	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0038) due to user graesj1 overridding Payment Estimate Exception 51 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$141.75)	
				18	Nov 2, 2020	SYSTEM	\$141.75	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0021) due to user graesj1 overridding Payment Estimate Exception 33 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$141.75)	
				19	Nov 16, 2020	SYSTEM	\$141.75	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0019) due to user graesj1 overridding Payment Estimate Exception 37 on the current Payment Estimate.
			- Total				\$0.00	

Revision 4/1/2020 Page 27 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks				
0830	Material - Total						\$0.00					
0830 -	Total						\$0.00					
0840	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		9	Jun 16, 2020	SYSTEM	(\$216.00)					
	WARRING FAIRT, THE F BEADO			9	Jun 16, 2020	SYSTEM	\$216.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0034) due to user graesj1 overridding Payment Estimate Exception 12 on the current Payment Estimate.				
				10	Jul 1, 2020	SYSTEM	(\$216.00)					
				10	Jul 1, 2020	SYSTEM	\$216.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0024) due to user morgat overridding Payment Estimate Exception 8 on the current Payment Estimate.				
				11	Jul 16, 2020	SYSTEM	(\$216.00)					
				11	Jul 16, 2020	SYSTEM	\$216.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user graesj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.				
				12	Aug 4, 2020	SYSTEM	(\$216.00)					
				12	Aug 4, 2020	SYSTEM	\$216.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user graesj1 overridding Payment Estimate Exception 17 on the current Payment Estimate.				
				13	Aug 17, 2020	SYSTEM	(\$216.00)					
				13	Aug 17, 2020	SYSTEM	\$216.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0035) due to user graesj1 overridding Payment Estimate Exception 20 on the current Payment Estimate.				
									14	Sep 2, 2020	SYSTEM	(\$216.00)
				14	Sep 2, 2020	SYSTEM	\$216.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0047) due to user graesj1 overridding Payment Estimate Exception 18 on the current Payment Estimate.				
				15	Sep 16, 2020	SYSTEM	(\$216.00)					
				15	Sep 16, 2020	SYSTEM	\$216.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user graesj1 overridding Payment Estimate Exception 27 on the current Payment Estimate.				
				16	Oct 1, 2020	SYSTEM	(\$216.00)					
				16	Oct 1, 2020	SYSTEM	\$216.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user graesj1 overridding Payment Estimate Exception 35 on the current Payment Estimate.				
				17	Oct 19, 2020	SYSTEM	(\$445.50)					
				17	Oct 19, 2020	SYSTEM	\$445.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0040) due to user graesj1 overridding Payment Estimate Exception 52 on the current Payment Estimate.				
				18	Nov 2, 2020	SYSTEM	(\$445.50)					
				19	Nov 16, 2020	SYSTEM	(\$445.50)					
			- Total				(\$891.00)					
	Material - Total						(\$891.00)					
	24 IN. WHITE STANDARD WATERBORNE PAVEMENT	MaterialCredit		19	Nov 16, 2020	SYSTEM	\$445.50					
	MARKING PAINT, TYPE P BEADS			20	Dec 1, 2020	SYSTEM	\$445.50					
			- Total				\$891.00					
	MaterialCredit - Total						\$891.00					

Revision 4/1/2020 Page 28 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0840	24 IN. WHITE STANDARD WATERBORNE PAVEMENT	Overrun	Overrun	17	Oct 19, 2020	SYSTEM	(\$216.00)	
	MARKING PAINT, TYPE P BEADS			17	Oct 19, 2020	SYSTEM	\$216.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0039) overridding Payment Estimate Exception 87 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$216.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				18	Nov 2, 2020	SYSTEM	\$216.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) overridding Payment Estimate Exception 57 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$216.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				19	Nov 16, 2020	SYSTEM	\$216.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0020) overridding Payment Estimate Exception 58 on the current Payment Estimate.
				20	Dec 1, 2020	SYSTEM	(\$216.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
			Overrun - T	otal			(\$216.00)	
	Overrun - Total						(\$216.00)	
0840 -	Total						(\$216.00)	
0890	PERMANENT EROSION CONTROL GEOTEXTILE	Material		9	Jun 16, 2020	SYSTEM	(\$370.00)	
				9	Jun 16, 2020	SYSTEM	\$370.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0035) due to user graesj1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	PERMANENT EROSION CONTROL GEOTEXTILE	Overrun	Overrun	13	Aug 17, 2020	SYSTEM	(\$2,390.00)	
				16	Oct 1, 2020	SYSTEM	(\$1,958.50)	
				17	Oct 19, 2020	SYSTEM	(\$1,958.50)	
				18	Nov 2, 2020	SYSTEM	\$6,307.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',5.00000 - 5.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0890 -	Total						\$0.00	
0930	18 IN. PIPE GROUP B	Material		5	Apr 16, 2020	SYSTEM	(\$9,020.00)	
				5	Apr 16, 2020	SYSTEM	\$9,020.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0930 -	Total						\$0.00	
0990	MISC. UTILITY ENCASEMENT	Construction Stockpile		5	Apr 16, 2020	SYSTEM	\$25,200.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				12	Aug 4, 2020	SYSTEM	(\$9,648.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				19	Nov 16, 2020	SYSTEM	(\$6,768.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$8,784.00	
	Construction Stockpile - Total						\$8,784.00	
0990 -	Total						\$8,784.00	
1010	18 IN. PIPE GROUP A	Material		16	Oct 1, 2020	SYSTEM	(\$5,712.00)	
				16	Oct 1, 2020	SYSTEM	\$5,712.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0020) due to user graesj1 overridding Payment Estimate Exception 53 on the current Payment Estimate.

Revision 4/1/2020 Page 29 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1010	18 IN. PIPE GROUP A	Material		17	Oct 19, 2020	SYSTEM	(\$5,712.00)	
				17	Oct 19, 2020	SYSTEM	\$5,712.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0042) due to user graesj 1 overridding Payment Estimate Exception 73 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$5,712.00)	
				18	Nov 2, 2020	SYSTEM	\$5,712.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user graesj1 overridding Payment Estimate Exception 47 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$5,712.00)	
				19	Nov 16, 2020	SYSTEM	\$5,712.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0024) due to user graesj1 overridding Payment Estimate Exception 50 on the current Payment Estimate.
				20	Dec 1, 2020	SYSTEM	(\$5,712.00)	
				20	Dec 2, 2020	SYSTEM	\$5,712.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0021) due to user graesj1 overridding Payment Estimate Exception 41 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1010 -	· Total						\$0.00	
1020	24 IN. PIPE GROUP A	Material		9	Jun 16, 2020	SYSTEM	(\$5,868.50)	
				9	Jun 16, 2020	SYSTEM	\$5,868.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0036) due to user graesj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
				10	Jul 1, 2020	SYSTEM	(\$5,868.50)	
				10	Jul 1, 2020	SYSTEM	\$5,868.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user morgat overridding Payment Estimate Exception 9 on the current Payment Estimate.
				11	Jul 16, 2020	SYSTEM	(\$5,868.50)	
				11	Jul 16, 2020	SYSTEM	\$5,868.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				12	Aug 4, 2020	SYSTEM	(\$5,868.50)	
				12	Aug 4, 2020	SYSTEM	\$5,868.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user graesj1 overridding Payment Estimate Exception 24 on the current Payment Estimate.
				13	Aug 17, 2020	SYSTEM	(\$5,868.50)	
				13	Aug 17, 2020	SYSTEM	\$5,868.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0036) due to user graesj1 overridding Payment Estimate Exception 28 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1020 -	·Total						\$0.00	
1030	30 IN. PIPE GROUP A	Material		14	Sep 2, 2020	SYSTEM	(\$5,760.00)	
				14	Sep 2, 2020	SYSTEM	\$5,760.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0048) due to user graesj1 overridding Payment Estimate Exception 26 on the current Payment Estimate.
				15	Sep 16, 2020	SYSTEM	(\$5,760.00)	
				15	Sep 16,	SYSTEM	\$5,760.00	This adjustment offsets the original system-generated Overrun

Revision 4/1/2020 Page 30 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1030	30 IN. PIPE GROUP A	Material	Туре		2020			Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 34 on the current Payment Estimate.
				16	Oct 1, 2020	SYSTEM	(\$5,760.00)	
				16	Oct 1, 2020	SYSTEM	\$5,760.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0021) due to user graesj1 overridding Payment Estimate Exception 54 on the current Payment Estimate.
				17	Oct 19, 2020	SYSTEM	(\$5,760.00)	
				17	Oct 19, 2020	SYSTEM	\$5,760.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0043) due to user graesj1 overridding Payment Estimate Exception 74 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$5,760.00)	
				18	Nov 2, 2020	SYSTEM	\$5,760.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0026) due to user graesj1 overridding Payment Estimate Exception 48 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1030 -	Total						\$0.00	
1040	36 IN. PIPE GROUP A	Material		5	Apr 16, 2020	SYSTEM	(\$11,760.00)	
				5	Apr 16, 2020	SYSTEM	\$11,760.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user graesj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	Total						\$0.00	
1120	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	Material		14	Sep 2, 2020	SYSTEM	(\$880.00)	
				14	Sep 2, 2020	SYSTEM	\$880.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0049) due to user graesj1 overridding Payment Estimate Exception 28 on the current Payment Estimate.
				15	Sep 16,	SYSTEM	(\$880.00)	
					2020		(ψοσο.σο)	
				15	2020 Sep 16, 2020	SYSTEM	\$880.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user graesj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.
				15	Sep 16,	SYSTEM	, ,	Payment Estimate Item Adjustment (0017) due to user graesj1 overridding Payment Estimate Exception 36 on the current Payment
					Sep 16, 2020		\$880.00	Payment Estimate Item Adjustment (0017) due to user graesj1 overridding Payment Estimate Exception 36 on the current Payment
				16	Sep 16, 2020 Oct 1, 2020 Oct 1,	SYSTEM	\$880.00	Payment Estimate Item Adjustment (0017) due to user graesj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) due to user graesj1 overridding Payment Estimate Exception 56 on the current Payment
				16	Sep 16, 2020  Oct 1, 2020  Oct 1, 2020  Oct 19,	SYSTEM	\$880.00 (\$880.00) \$880.00	Payment Estimate Item Adjustment (0017) due to user graesj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) due to user graesj1 overridding Payment Estimate Exception 56 on the current Payment
				16 16	Sep 16, 2020  Oct 1, 2020  Oct 19, 2020  Oct 19, 2020	SYSTEM SYSTEM SYSTEM	\$880.00 (\$880.00) \$880.00	Payment Estimate Item Adjustment (0017) due to user graesj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) due to user graesj1 overridding Payment Estimate Exception 56 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0044) due to user graesj1 overridding Payment Estimate Exception 76 on the current Payment
				16 16 17 17	Sep 16, 2020  Oct 1, 2020  Oct 19, 2020  Oct 19, 2020  Nov 2,	SYSTEM SYSTEM SYSTEM	\$880.00 (\$880.00) \$880.00 (\$880.00)	Payment Estimate Item Adjustment (0017) due to user graesj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) due to user graesj1 overridding Payment Estimate Exception 56 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0044) due to user graesj1 overridding Payment Estimate Exception 76 on the current Payment
				16 16 17 17	Sep 16, 2020  Oct 1, 2020  Oct 19, 2020  Oct 19, 2020  Nov 2, 2020  Nov 2,	SYSTEM SYSTEM SYSTEM SYSTEM	\$880.00 (\$880.00) \$880.00 (\$880.00) \$880.00	Payment Estimate Item Adjustment (0017) due to user graesj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) due to user graesj1 overridding Payment Estimate Exception 56 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0044) due to user graesj1 overridding Payment Estimate Exception 76 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0027) due to user graesj1 overridding Payment Estimate Exception 50 on the current Payment

Revision 4/1/2020 Page 31 of 48



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
Lille	Description	Туре	Adjustment Type	Number	Date	By	Amount	i Velliai no
1120	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	Material		20	Dec 1, 2020	SYSTEM	(\$880.00)	
				20	Dec 2, 2020	SYSTEM	\$880.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) due to user graesj1 overridding Payment Estimate Exception 42 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1120 -	· Total						\$0.00	
1190	SEEDING - COOL SEASON MIXTURES	Material		9	Jun 16, 2020	SYSTEM	(\$4,940.50)	
				9	Jun 16, 2020	SYSTEM	\$4,940.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0037) due to user graesj1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1190 -	- Total						\$0.00	
1200	SEEDING - WARM SEASON MIXTURES	Overrun	Overrun	12	Aug 4, 2020	SYSTEM	(\$4,275.00)	
				17	Oct 19, 2020	SYSTEM	(\$1,035.00)	
				18	Nov 2, 2020	SYSTEM	\$5,310.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2250.00000 - 2250.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
1200 -	· Total						\$0.00	
1240	ROCK DITCH CHECK	Overrun	Overrun	17	Oct 19, 2020	SYSTEM	(\$325.50)	
				20	Dec 1, 2020	SYSTEM	(\$520.80)	
			Overrun - T	otal			(\$846.30)	
	Overrun - Total						(\$846.30)	
1240 -	· Total						(\$846.30)	
1280	SLOPE DRAINS	Material		13	Aug 17, 2020	SYSTEM	(\$2,812.50)	
				13	Aug 17, 2020	SYSTEM	\$2,812.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0037) due to user graesj1 overridding Payment Estimate Exception 29 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1280 -	· Total						\$0.00	
1300	TEMPORARY SEEDING AND MULCHING	Material		9	Jun 16, 2020	SYSTEM	(\$5,005.00)	
				9	Jun 16, 2020	SYSTEM	\$5,005.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0038) due to user graesj1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1300 -	· Total						\$0.00	
1330	TYPE 1 TURF REINFORCEMENT MAT	Material		9	Jun 16, 2020	SYSTEM	(\$1,674.00)	
				9	Jun 16, 2020	SYSTEM	\$1,674.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0039) due to user graesj1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
				10	Jul 1, 2020	SYSTEM	(\$1,674.00)	
				10	Jul 1, 2020	SYSTEM	\$1,674.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0026) due to user morgat overridding Payment Estimate Exception 10 on the current Payment

Revision 4/1/2020 Page 32 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1330	TYPE 1 TURF REINFORCEMENT MAT	Material						Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1330	- Total						\$0.00	
1350	MISC. TIED CONCRETE BLOCK SYSTEM	Material		14	Sep 2, 2020	SYSTEM	(\$14,850.00)	
				14	Sep 2, 2020	SYSTEM	\$14,850.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0050) due to user graesj1 overridding Payment Estimate Exception 29 on the current Payment Estimate.
				15	Sep 16, 2020	SYSTEM	(\$14,850.00)	
				15	Sep 16, 2020	SYSTEM	\$14,850.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user graesj1 overridding Payment Estimate Exception 37 on the current Payment Estimate.
				16	Oct 1, 2020	SYSTEM	(\$14,850.00)	
				16	Oct 1, 2020	SYSTEM	\$14,850.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user graesj1 overridding Payment Estimate Exception 57 on the current Payment Estimate.
				17	Oct 19, 2020	SYSTEM	(\$14,850.00)	
				17	Oct 19, 2020	SYSTEM	\$14,850.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user graesj1 overridding Payment Estimate Exception 77 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$14,850.00)	
				18	Nov 2, 2020	SYSTEM	\$14,850.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user graesj1 overridding Payment Estimate Exception 51 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$14,850.00)	
				19	Nov 16, 2020	SYSTEM	\$14,850.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user graesj1 overridding Payment Estimate Exception 52 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1350	- Total						\$0.00	
1370	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material		17	Oct 19, 2020	SYSTEM	(\$26,093.76)	
				17	Oct 19, 2020	SYSTEM	\$26,093.76	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user graesj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$26,093.76)	
				18	Nov 2, 2020	SYSTEM	\$26,093.76	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0028) due to user graesj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$26,093.76)	
				19	Nov 16, 2020	SYSTEM	\$26,093.76	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0026) due to user graesj1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
				20	Dec 1, 2020	SYSTEM	(\$26,093.76)	
				20	Dec 2, 2020	SYSTEM	\$26,093.76	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0023) due to user graesj1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
			- Total				\$0.00	

Revision 4/1/2020 Page 33 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1370	Material - Total						\$0.00	
	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Price		17	Oct 19, 2020	SYSTEM	(\$217.16)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$217.16)	
	Price - Total						(\$217.16)	
1370 -							(\$217.16)	
1390	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material		7	May 18, 2020	SYSTEM	(\$144,107.60)	
				7	May 18, 2020	SYSTEM	\$144,107.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				8	Jun 2, 2020	SYSTEM	(\$144,107.60)	
				8	Jun 2, 2020	SYSTEM	\$144,107.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user graesj 1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				9	Jun 16, 2020	SYSTEM	(\$144,107.60)	
				9	Jun 16, 2020	SYSTEM	\$144,107.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0040) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				10	Jul 1, 2020	SYSTEM	(\$144,107.60)	
				10	Jul 1, 2020	SYSTEM	\$144,107.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0027) due to user morgat overridding Payment Estimate Exception 1 on the current Payment Estimate.
				11	Jul 16, 2020	SYSTEM	(\$144,107.60)	
				11	Jul 16, 2020	SYSTEM	\$144,107.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				12	Aug 4, 2020	SYSTEM	(\$157,082.80)	
				12	Aug 4, 2020	SYSTEM	\$157,082.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				13	Aug 17, 2020	SYSTEM	(\$157,082.80)	
				13	Aug 17, 2020	SYSTEM	\$157,082.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0038) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				14	Sep 2, 2020	SYSTEM	(\$157,082.80)	
				14	Sep 2, 2020	SYSTEM	\$157,082.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0051) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				15	Sep 16, 2020	SYSTEM	(\$336,165.20)	
				15	Sep 16, 2020	SYSTEM	\$336,165.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0023) due to user graesj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				16	Oct 1, 2020	SYSTEM	(\$406,916.72)	
				16	Oct 1, 2020	SYSTEM	\$406,916.72	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0026) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				17	Oct 19, 2020	SYSTEM	(\$443,177.84)	
				17	Oct 19,	SYSTEM	\$443,177.84	This adjustment offsets the original system-generated Overrun

Revision 4/1/2020 Page 34 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1390	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material	71-		2020			Payment Estimate Item Adjustment (0046) due to user graesj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$443,177.84)	
				18	Nov 2, 2020	SYSTEM	\$443,177.84	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0029) due to user graesj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$443,177.84)	
				19	Nov 16, 2020	SYSTEM	\$443,177.84	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0027) due to user graesj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				20	Dec 1, 2020	SYSTEM	(\$443,177.84)	
				20	Dec 2, 2020	SYSTEM	\$443,177.84	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0024) due to user graesj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Price		7	May 18, 2020	SYSTEM	(\$2,055.07)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				12	Aug 4, 2020	SYSTEM	(\$129.98)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				15	Sep 16, 2020	SYSTEM	(\$1,751.81)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				16	Oct 1, 2020	SYSTEM	(\$692.10)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				17	Oct 19, 2020	SYSTEM	(\$380.35)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
								1 OLE
			- Total		2020		(\$5,009.31)	TOLE
	Price - Total		- Total		2020		(\$5,009.31) (\$5,009.31)	TOLL
1390	Price - Total - Total		- Total		2020			
1390 1410		Material	- Total	12	Aug 4, 2020	SYSTEM	(\$5,009.31)	
	- Total CONCRETE PAVEMENT (8 1/2 IN.	Material	- Total	12	Aug 4,	SYSTEM SYSTEM	(\$5,009.31) (\$5,009.31)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
	- Total CONCRETE PAVEMENT (8 1/2 IN.	Material	- Total		Aug 4, 2020 Aug 4,	SYSTEM	(\$5,009.31) (\$5,009.31) (\$58,908.08)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment
	- Total CONCRETE PAVEMENT (8 1/2 IN.	Material	- Total	12	Aug 4, 2020 Aug 4, 2020	SYSTEM	(\$5,009.31) (\$5,009.31) (\$58,908.08) \$58,908.08	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment
	- Total CONCRETE PAVEMENT (8 1/2 IN.	Material	- Total	12	Aug 4, 2020 Aug 4, 2020 Aug 17, 2020	SYSTEM SYSTEM SYSTEM	(\$5,009.31) (\$5,009.31) (\$58,908.08) \$58,908.08 (\$110,904.08)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0039) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment
	- Total CONCRETE PAVEMENT (8 1/2 IN.	Material	- Total	12 13	Aug 4, 2020 Aug 4, 2020 Aug 17, 2020 Aug 17, 2020	SYSTEM SYSTEM SYSTEM	(\$5,009.31) (\$5,009.31) (\$58,908.08) \$58,908.08 (\$110,904.08) \$110,904.08	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0039) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment
	- Total CONCRETE PAVEMENT (8 1/2 IN.	Material	- Total	12 13 13	Aug 4, 2020 Aug 4, 2020 Aug 17, 2020 Aug 17, 2020 Sep 2, 2020	SYSTEM SYSTEM SYSTEM SYSTEM	(\$5,009.31) (\$5,009.31) (\$58,908.08) \$58,908.08 (\$110,904.08) \$110,904.08	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0039) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0052) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment
	- Total CONCRETE PAVEMENT (8 1/2 IN.	Material	- Total	12 13 13 14 14	Aug 4, 2020 Aug 4, 2020 Aug 17, 2020 Aug 17, 2020 Sep 2, 2020 Sep 2, 2020	SYSTEM SYSTEM SYSTEM SYSTEM	(\$5,009.31) (\$5,009.31) (\$58,908.08) \$58,908.08 (\$110,904.08) \$110,904.08 (\$110,904.08)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0039) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0052) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment
	- Total CONCRETE PAVEMENT (8 1/2 IN.	Material	- Total	12 13 13 14 14	Aug 4, 2020 Aug 4, 2020 Aug 17, 2020 Aug 17, 2020 Sep 2, 2020 Sep 16, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$5,009.31) (\$5,009.31) (\$58,908.08) \$58,908.08 (\$110,904.08) \$110,904.08 (\$110,904.08) \$110,904.08 (\$192,938.48)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0039) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0052) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0031) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment
	- Total CONCRETE PAVEMENT (8 1/2 IN.	Material	- Total	12 13 13 14 14 15 15	Aug 4, 2020 Aug 4, 2020 Aug 17, 2020 Aug 17, 2020 Sep 2, 2020 Sep 16, 2020 Oct 1,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$5,009.31) (\$5,009.31) (\$58,908.08) \$58,908.08 (\$110,904.08) \$110,904.08 (\$110,904.08) \$110,904.08 (\$192,938.48)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0039) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0052) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0031) due to user graesj1 overridding Payment Estimate Exception 1 on the current Payment

Revision 4/1/2020 Page 35 of 48



1 14 -	Description	Adinate/	Other	F-t	Crasta	Crasted	A	Damanka
Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1410	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material		17	Oct 19, 2020	SYSTEM	\$192,938.48	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0059) due to user graesj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$192,938.48)	
				18	Nov 2, 2020	SYSTEM	\$192,938.48	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0032) due to user graesj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$192,938.48)	
				19	Nov 16, 2020	SYSTEM	\$192,938.48	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0030) due to user graesj1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				20	Dec 1, 2020	SYSTEM	(\$192,938.48)	
				20	Dec 2, 2020	SYSTEM	\$192,938.48	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0027) due to user graesj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	CONCRETE PAVEMENT (8 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Price		12	Aug 4, 2020	SYSTEM	(\$590.13)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				13	Aug 17, 2020	SYSTEM	(\$527.02)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				15	Sep 16, 2020	SYSTEM	(\$802.47)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$1,919.62)	
4440	Price - Total						(\$1,919.62)	
1410 -								
1420		Meterial		7	May 10	CVCTEM	(\$1,919.62)	
1430	TYPE A2 SHOULDER	Material		7	May 18, 2020	SYSTEM	(\$2,001.46)	
1430		Material		7		SYSTEM SYSTEM		This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
1430		Material			2020 May 18,		(\$2,001.46)	Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 7 on the current Payment
1430		Material		7	2020 May 18, 2020 Jun 2,	SYSTEM	(\$2,001.46) \$2,001.46 (\$2,001.46) \$2,001.46	Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 7 on the current Payment
1430		Material		7	2020 May 18, 2020 Jun 2, 2020 Jun 2,	SYSTEM	(\$2,001.46) \$2,001.46 (\$2,001.46)	Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment
1430		Material		7 8 8	2020 May 18, 2020 Jun 2, 2020 Jun 2, 2020 Jun 16,	SYSTEM SYSTEM	(\$2,001.46) \$2,001.46 (\$2,001.46) \$2,001.46	Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment
1430		Material		7 8 8 8 9	2020 May 18, 2020 Jun 2, 2020 Jun 2, 2020 Jun 16, 2020	SYSTEM SYSTEM SYSTEM	(\$2,001.46) \$2,001.46 (\$2,001.46) \$2,001.46	Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0041) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment
1430		Material		7 8 8 8 9 9	2020 May 18, 2020 Jun 2, 2020 Jun 16, 2020 Jun 16, 2020	SYSTEM SYSTEM SYSTEM SYSTEM	(\$2,001.46) \$2,001.46 (\$2,001.46) \$2,001.46 (\$2,001.46)	Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0041) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment
1430		Material		7 8 8 8 9 9	2020 May 18, 2020 Jun 2, 2020 Jun 16, 2020 Jun 16, 2020 Jul 1, 2020 Jul 1,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$2,001.46) \$2,001.46 (\$2,001.46) \$2,001.46 (\$2,001.46)	Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0041) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0028) due to user morgat overridding Payment Estimate Exception 5 on the current Payment overridding Payment Estimate Exception 5 on the current Payment
1430		Material		7 8 8 9 9 10	2020 May 18, 2020 Jun 2, 2020 Jun 16, 2020 Jul 1, 2020 Jul 1, 2020 Jul 1, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$2,001.46) \$2,001.46 (\$2,001.46) \$2,001.46 (\$2,001.46) \$2,001.46	Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0041) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0028) due to user morgat overridding Payment Estimate Exception 5 on the current Payment overridding Payment Estimate Exception 5 on the current Payment
1430		Material		7 8 8 8 9 9 10 10	2020 May 18, 2020 Jun 2, 2020 Jun 16, 2020 Jul 1, 2020 Jul 1, 2020 Jul 16, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$2,001.46) \$2,001.46 (\$2,001.46) \$2,001.46 (\$2,001.46) \$2,001.46 (\$2,001.46)	Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0041) due to user graesj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0028) due to user morgat overridding Payment Estimate Exception 5 on the current Payment Estimate.

Revision 4/1/2020 Page 36 of 48



13	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks				
2000   Popment Estimate Recognition (GRO) due to use green Popment Estimate Exception (3 on the corners Popment Estimate Recognition (4 on the corners Popment Estimate Recogn	1430	TYPE A2 SHOULDER	Material		13		SYSTEM	(\$2,263.66)					
14   Sept. 2020   SYSTEM   \$2,203.66   This adjustment offsets the original system-penerated Overrun Payment Estimate than Adjustment (0.053) due to user grassif to the complex of the complex offsets the original system-penerated Overrun Payment Estimate than Adjustment (0.053) due to user grassif to the complex offsets the original system-penerated Overrun Payment Estimate (1.052) due to user grassif to the complex offsets the original system-penerated Overrun Payment Estimate (1.052) due to user grassif overring Payment Estimate Estimate Estimate Estimate Estimate (0.052) due to user grassif overring Payment Estimate Esti					13		SYSTEM	\$2,263.66	Payment Estimate Item Adjustment (0040) due to user graesj1 overridding Payment Estimate Exception 10 on the current Payment				
Payment Estimate Isosoption 10 on the current Payment Isosoption 10 on the Current Pa					14		SYSTEM	(\$2,263.66)					
15					14		SYSTEM	\$2,263.66	Payment Estimate Item Adjustment (0053) due to user graesj1 overridding Payment Estimate Exception 10 on the current Payment				
Payment Estimate Item Adjustment (0032) due to user graces]							15		SYSTEM	(\$2,263.66)			
16						15		SYSTEM	\$2,263.66	Payment Estimate Item Adjustment (0032) due to user graesj1 overridding Payment Estimate Exception 14 on the current Payment			
Page									16		SYSTEM	(\$10,120.92)	
17									16		SYSTEM	\$10,120.92	Payment Estimate Item Adjustment (0030) due to user graesj1 overridding Payment Estimate Exception 14 on the current Payment
2020   Payment Estimate Item Adjustment (0680) due to user graesji overridding Payment Estimate Exception 17 on the current Payment Estimate.					17		SYSTEM	(\$11,599.12)					
18					17		SYSTEM	\$11,599.12	Payment Estimate Item Adjustment (0060) due to user graesj1 overridding Payment Estimate Exception 17 on the current Payment				
Payment Estimate Item Adjustment (0033) due to user grasej1							18		SYSTEM	(\$11,599.12)			
19					18		SYSTEM	\$11,599.12	Payment Estimate Item Adjustment (0033) due to user graesj1 overridding Payment Estimate Exception 16 on the current Payment				
2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020   2020						19		SYSTEM	(\$11,599.12)				
2020   20   20   20   20   20   20						19		SYSTEM	\$11,599.12	Payment Estimate Item Adjustment (0031) due to user graesj1 overridding Payment Estimate Exception 18 on the current Payment			
Aug 4, 2020   Payment Estimate Item Adjustment (6028) due to user graesj1 overridding Payment Estimate Exception 20 on the current Payment Estimate.   S0.00					20		SYSTEM	(\$11,599.12)					
Material - Total					20		SYSTEM	\$11,599.12	Payment Estimate Item Adjustment (0028) due to user graesj1 overridding Payment Estimate Exception 20 on the current Payment				
TYPE A2 SHOULDER Other Item Adjustment  FUEL 7 May 18, 2020 graesj1 (\$31.23) 52.67 S.Y. F.U.F. 0.49 Diff\$1.21 = -\$31.23  12 Aug 4, 2020 graesj1 (\$2.87) Estimate 12 6.9 SY F.U.F. 0.49 Diff\$0.85 = -\$2.87  16 Oct 1, 2020 graesj1 (\$84.09) Estimate 16 Index DIff. = -\$0.83 F.U.F. = 0.49 206.77 SY *-\$0.83 * 0.49 = -\$84.09  17 Oct 19, 2020 graesj1 (\$16.96) Estimate 17, F.U.F. = 0.49 Diff. = -0.89 38.9 Ton * 0.49 *-\$0.89 = -16.96  FUEL - Total (\$135.15)  Other Item Adjustment - Total (\$135.15)  TYPE A2 SHOULDER Material 12 Aug 4, 2020 SYSTEM (\$2,357.52)  1450 SYSTEM \$2,357.52 This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 9 on the current Payment		Material - Total		- Total									
12				FUEL	7		graesj1						
16			. rajaouriorit		12	Aug 4,	graesj1	(\$2.87)	Estimate 12 6.9 SY F.U.F. 0.49				
17					16	Oct 1,	graesj1	(\$84.09)	Estimate 16 Index Dlff. = - \$0.83 F.U.F.= 0.49				
Company					17	Oct 19,	graesj1	(\$16.96)	Estimate 17, F.U.F.= 0.49 Diff. = -0.89				
1430 - Total  TYPE A2 SHOULDER Material  12 Aug 4, 2020  12 Aug 4, 2020  13 Aug 4, 2020  14 Aug 4, 2020  15 Aug 4, 2020  16 Aug 4, 2020  17 This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 9 on the current Payment				FUEL - Tota	ıl			(\$135.15)					
TYPE A2 SHOULDER Material  12 Aug 4, 2020  13 Aug 4, 2020  14 Aug 4, 2020  15 Aug 4, 2020  16 Aug 4, 2020  17 Aug 4, 2020  18 SYSTEM \$2,357.52  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 9 on the current Payment		Other Item Adjustment - Total						(\$135.15)					
2020  12 Aug 4, 2020  SYSTEM \$2,357.52 This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 9 on the current Payment													
2020 Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 9 on the current Payment	1450	TYPE A2 SHOULDER	Material		12		SYSTEM	(\$2,357.52)					
					12		SYSTEM	\$2,357.52	Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 9 on the current Payment				
13 Aug 17, SYSTEM (\$4,113.88)					13	Aug 17, 2020	SYSTEM	(\$4,113.88)					

Revision 4/1/2020 Page 37 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
1450	TYPE A2 SHOULDER	Material		13	Aug 17, 2020	SYSTEM	\$4,113.88	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0041) due to user graesj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	
				14	Sep 2, 2020	SYSTEM	(\$4,113.88)		
				14	Sep 2, 2020	SYSTEM	\$4,113.88	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0054) due to user graesj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	
				15	Sep 16, 2020	SYSTEM	(\$4,619.28)		
				15	Sep 16, 2020	SYSTEM	\$4,619.28	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0033) due to user graesj1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	
				16	Oct 1, 2020	SYSTEM	(\$4,619.28)		
				16	Oct 1, 2020	SYSTEM	\$4,619.28	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0031) due to user graesj1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	
				17	Oct 19, 2020	SYSTEM	(\$4,619.28)		
				17	Oct 19, 2020	SYSTEM	\$4,619.28	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0061) due to user graesj1 overridding Payment Estimate Exception 16 on the current Payment Estimate.	
				18	Nov 2, 2020	SYSTEM	(\$4,619.28)		
					18	Nov 2, 2020	SYSTEM	\$4,619.28	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0034) due to user graesj1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
						19	Nov 16, 2020	SYSTEM	(\$4,619.28)
				19	Nov 16, 2020	SYSTEM	\$4,619.28	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0032) due to user graesj1 overridding Payment Estimate Exception 19 on the current Payment Estimate.	
				20	Dec 1, 2020	SYSTEM	(\$4,619.28)		
				20	Dec 2, 2020	SYSTEM	\$4,619.28	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0029) due to user graesj1 overridding Payment Estimate Exception 21 on the current Payment Estimate.	
	Material Total		- Total				\$0.00		
	Material - Total  TYPE A2 SHOULDER	Other Item	FUEL	12	Aug 4,	graesj1	\$0.00 (\$25.84)	Estimate 12 62.04 SY F.U.F. 0.49	
		Adjustment		13	2020 Aug 17,	graesj1	(\$19.48)	Diff\$0.85 = -\$25.84  Estimate 13	
				15	2020 Sep 16, 2020	graesj1	(\$5.41)	Diff\$0.86 = -\$19.48  Estimate 15 F.U.F.=0.49 DIFF.= -\$0.83  13.3 SY = -\$5.41	
			FUEL - Tota	ıl	2020		(\$50.73)	10.001	
	Other Item Adjustment - Total						(\$50.73)		
	- Total	Compture		4	A == = 0	CVCTE!	(\$50.73)	December Februarie Hom Adjustment account of Ottober 1. Town	
1460	GUARDRAIL TYPE D	Construction Stockpile		4	Apr 2, 2020	SYSTEM	\$345.50	Payment Estimate Item Adjustment generated Stockpile Transaction	
			- Total	13	Aug 17, 2020	SYSTEM	(\$172.75)	Payment Estimate Item Adjustment generated Stockpile Transaction	
	Construction Stockpile - Total		- Iotal				\$172.75 \$172.75		
1460	· Total						\$172.75		
1470	MGS GUARDRAIL	Construction Stockpile		4	Apr 2, 2020	SYSTEM	\$119,256.51	Payment Estimate Item Adjustment generated Stockpile Transaction	
				9	Jun 16,	SYSTEM	(\$26,314.89)	Payment Estimate Item Adjustment generated Stockpile Transaction	

Revision 4/1/2020 Page 38 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1470	MGS GUARDRAIL	Construction			2020			
		Stockpile		13	Aug 17, 2020	SYSTEM	(\$5,134.61)	Payment Estimate Item Adjustment generated Stockpile Transaction
				14	Sep 2, 2020	SYSTEM	(\$2,177.08)	Payment Estimate Item Adjustment generated Stockpile Transaction
				17	Oct 19, 2020	SYSTEM	(\$23,747.58)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$61,882.35	
	Construction Stockpile - Total						\$61,882.35	
1470 -	Total						\$61,882.35	
1480	MGS BRIDGE APPROACH TRANSITION SECTION	Construction Stockpile		4	Apr 2, 2020	SYSTEM	\$8,886.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	(REGULAR/NO CURB)			17	Oct 19, 2020	SYSTEM	(\$4,443.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$4,443.00	
	Construction Stockpile - Total						\$4,443.00	
1480 -	Total						\$4,443.00	
1490	MGS HEIGHT AND BLOCK TRANSITION	Construction Stockpile		4	Apr 2, 2020	SYSTEM	\$265.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$265.00	
	Construction Stockpile - Total						\$265.00	
1490 -	Total						\$265.00	
1500	MGS END ANCHOR	Construction Stockpile		4	Apr 2, 2020	SYSTEM	\$6,958.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				9	Jun 16, 2020	SYSTEM	(\$1,491.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				13	Aug 17, 2020	SYSTEM	(\$497.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				14	Sep 2, 2020	SYSTEM	(\$497.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				17	Oct 19, 2020	SYSTEM	(\$994.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$3,479.00	
	Construction Stockpile - Total						\$3,479.00	
1500 -							\$3,479.00	
1510	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		4	Apr 2, 2020	SYSTEM	\$28,823.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				9	Jun 16, 2020	SYSTEM	(\$7,585.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				17	Oct 19, 2020	SYSTEM	(\$6,068.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$15,170.00	
	Construction Stockpile - Total						\$15,170.00	
1510 - 1710	CONCRETE FOOTINGS,	Material		13	Aug 17,	SYSTEM	\$15,170.00 (\$1,008.00)	
	EMBEDDED			13	2020 Aug 17, 2020	SYSTEM	\$1,008.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0042) due to user graesj1 overridding Payment Estimate Exception 30 on the current Payment Estimate.
				14	Sep 2, 2020	SYSTEM	(\$1,008.00)	
				14	Sep 2, 2020	SYSTEM	\$1,008.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0055) due to user graesj1 overridding Payment Estimate Exception 31 on the current Payment Estimate.
				15	Sep 16, 2020	SYSTEM	(\$1,008.00)	
				15	Sep 16, 2020	SYSTEM	\$1,008.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0024) due to user graesj1 overridding Payment Estimate Exception 38 on the current Payment Estimate.

Revision 4/1/2020 Page 39 of 48



Line										
	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
1710	CONCRETE FOOTINGS, EMBEDDED	Material		16	Oct 1, 2020	SYSTEM	(\$1,008.00)			
				16	Oct 1, 2020	SYSTEM	\$1,008.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0027) due to user graesj1 overridding Payment Estimate Exception 58 on the current Payment Estimate.		
				17	Oct 19, 2020	SYSTEM	(\$2,488.00)			
				17	Oct 19, 2020	SYSTEM	\$2,488.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0051) due to user graesj1 overridding Payment Estimate Exception 78 on the current Payment Estimate.		
						18	Nov 2, 2020	SYSTEM	(\$2,488.00)	
				18	Nov 2, 2020	SYSTEM	\$2,488.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0030) due to user graesj1 overridding Payment Estimate Exception 52 on the current Payment Estimate.		
				19	Nov 16, 2020	SYSTEM	(\$2,488.00)			
				19	Nov 16, 2020	SYSTEM	\$2,488.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0028) due to user graesj1 overridding Payment Estimate Exception 53 on the current Payment Estimate.		
				20	Dec 1, 2020	SYSTEM	(\$2,488.00)			
				20	Dec 2, 2020	SYSTEM	\$2,488.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user graesj1 overridding Payment Estimate Exception 43 on the current Payment Estimate.		
			- Total				\$0.00			
	Material - Total						\$0.00			
1710	- Total						\$0.00			
1720	STRUCTURAL STEEL POSTS	0		40						
		Construction Stockpile		10	Jul 1, 2020	SYSTEM	\$21,932.75	Payment Estimate Item Adjustment generated Stockpile Transaction		
				17		SYSTEM	\$21,932.75 \$529.60	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction		
			- Total		2020 Oct 19,					
	Construction Stockpile - Total		- Total		2020 Oct 19,		\$529.60			
1720	Construction Stockpile - Total - Total		- Total		2020 Oct 19,		\$529.60 \$22,462.35			
1720 - 1730			- Total		2020 Oct 19,		\$529.60 \$22,462.35 \$22,462.35			
	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL	Stockpile	- Total	17	2020 Oct 19, 2020 Sep 2,	SYSTEM	\$529.60 \$22,462.35 \$22,462.35 \$22,462.35	Payment Estimate Item Adjustment generated Stockpile Transaction		
	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL	Stockpile		17	2020 Oct 19, 2020 Sep 2,	SYSTEM	\$529.60 \$22,462.35 \$22,462.35 \$22,462.35 \$22,268.00	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction		
	- Total  BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)  Construction Stockpile - Total BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL	Stockpile  Construction Stockpile		17	2020 Oct 19, 2020 Sep 2,	SYSTEM	\$529.60 \$22,462.35 \$22,462.35 \$22,68.00 \$2,268.00	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction		
	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)  Construction Stockpile - Total BREAKAWAY ASSEMBLY	Stockpile  Construction Stockpile		17	2020 Oct 19, 2020 Sep 2, 2020	SYSTEM	\$529.60 \$22,462.35 \$22,462.35 \$22,462.35 \$2,268.00 \$2,268.00	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction		
	- Total  BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)  Construction Stockpile - Total  BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL	Stockpile  Construction Stockpile		14	2020 Oct 19, 2020 Sep 2, 2020 Aug 17, 2020	SYSTEM	\$529.60 \$22,462.35 \$22,462.35 \$22,462.35 \$2,268.00 \$2,268.00 (\$2,520.00)	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0043) due to user graesj1 overridding Payment Estimate Exception 31 on the current Payment		
	- Total  BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)  Construction Stockpile - Total  BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL	Stockpile  Construction Stockpile		17	2020 Oct 19, 2020 Sep 2, 2020 Aug 17, 2020 Sep 2,	SYSTEM  SYSTEM  SYSTEM  SYSTEM	\$529.60 \$22,462.35 \$22,462.35 \$2,268.00 \$2,268.00 \$2,268.00 \$2,520.00)	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0043) due to user graesj1 overridding Payment Estimate Exception 31 on the current Payment		
	- Total  BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)  Construction Stockpile - Total  BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL	Stockpile  Construction Stockpile		17 14 13 13	2020 Oct 19, 2020 Sep 2, 2020 Aug 17, 2020 Sep 2, 2020 Sep 2, 2020	SYSTEM  SYSTEM  SYSTEM  SYSTEM	\$529.60 \$22,462.35 \$22,462.35 \$22,462.35 \$2,268.00 \$2,268.00 \$2,268.00 (\$2,520.00) \$2,520.00	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0043) due to user graesj1 overridding Payment Estimate Exception 31 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0056) due to user graesj1 overridding Payment Estimate Exception 32 on the current Payment		
	- Total  BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)  Construction Stockpile - Total  BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL	Stockpile  Construction Stockpile		17 14 13 13 14 14	2020 Oct 19, 2020 Sep 2, 2020 Aug 17, 2020 Sep 2, 2020 Sep 2, 2020	SYSTEM  SYSTEM  SYSTEM  SYSTEM  SYSTEM	\$529.60 \$22,462.35 \$22,462.35 \$2,268.00 \$2,268.00 \$2,268.00 (\$2,520.00) \$2,520.00	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0043) due to user graesj1 overridding Payment Estimate Exception 31 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0056) due to user graesj1 overridding Payment Estimate Exception 32 on the current Payment		
	- Total  BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)  Construction Stockpile - Total  BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL	Stockpile  Construction Stockpile		17 14 13 13 14 14	2020 Oct 19, 2020 Sep 2, 2020 Aug 17, 2020 Sep 2, 2020 Sep 16, 2020 Sep 16, 2020	SYSTEM  SYSTEM  SYSTEM  SYSTEM  SYSTEM  SYSTEM	\$529.60 \$22,462.35 \$22,462.35 \$22,462.35 \$2,268.00 \$2,268.00 (\$2,520.00) \$2,520.00 (\$2,520.00)	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0043) due to user graesj1 overridding Payment Estimate Exception 31 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0056) due to user graesj1 overridding Payment Estimate Exception 32 on the current Payment Estimate.  This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user graesj1 overridding Payment Estimate Exception 39 on the current Payment		

Revision 4/1/2020 Page 40 of 48



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
Line	Bessipion	Туре	Adjustment Type	Number	Date	Ву	7 tilloulit	Kemara
1730	BREAKAWAY ASSEMBLY	Material						Estimate.
	(PERFORATED SQUARE STEEL TUBE)			17	Oct 19, 2020	SYSTEM	(\$2,520.00)	
				17	Oct 19, 2020	SYSTEM	\$2,520.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0053) due to user graesj1 overridding Payment Estimate Exception 79 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$2,520.00)	
				18	Nov 2, 2020	SYSTEM	\$2,520.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0031) due to user graesj1 overridding Payment Estimate Exception 53 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$2,520.00)	
				19	Nov 16, 2020	SYSTEM	\$2,520.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0029) due to user graesj1 overridding Payment Estimate Exception 54 on the current Payment Estimate.
				20	Dec 1, 2020	SYSTEM	(\$2,520.00)	
				20	Dec 2, 2020	SYSTEM	\$2,520.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0026) due to user graesj 1 overridding Payment Estimate Exception 44 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1730 -	Total						\$2,268.00	
1750	7 FT. CHANNEL POST DELINEATOR, DOUBLE STACKED WHITE	Construction Stockpile		14	Sep 2, 2020	SYSTEM	\$230.45	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$230.45	
	Construction Stockpile - Total						\$230.45	
1750 -	Total						\$230.45	
1760	7 FT. CHANNEL POST DELINEATOR, WHITE	Construction Stockpile		14	Sep 2, 2020	SYSTEM	\$101.70	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$101.70	
	Construction Stockpile - Total						\$101.70	
1760 -	Total						\$101.70	
1770	7 FT. CHANNEL POST DELINEATOR, YELLOW	Construction Stockpile		14	Sep 2, 2020	SYSTEM	\$67.80	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$67.80	
	Construction Stockpile - Total						\$67.80	
1770 -	Total						\$67.80	
1780	7 FT. CHANNEL POST DELINEATOR, WHITE/RED	Construction Stockpile		14	Sep 2, 2020	SYSTEM	\$209.50	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$209.50	
	Construction Stockpile - Total						\$209.50	
1780 -	Total						\$209.50	
1790	7 FT. CHANNEL POST DELINEATOR, YELLOW/RED	Construction Stockpile		14	Sep 2, 2020	SYSTEM	\$125.70	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$125.70	
	Construction Stockpile - Total						\$125.70	
1790 -	Total						\$125.70	
1800	2.5 IN. PSST POST - 12 GA.	Construction Stockpile		14	Sep 2, 2020	SYSTEM	\$8,976.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				17	Oct 19, 2020	SYSTEM	(\$941.03)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$8,034.97	
	Construction Stockpile - Total						\$8,034.97	
	2.5 IN. PSST POST - 12 GA.	Material		13	Aug 17, 2020	SYSTEM	(\$2,240.00)	

Revision 4/1/2020 Page 41 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1800	2.5 IN. PSST POST - 12 GA.	Material		13	Aug 17, 2020	SYSTEM	\$2,240.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0044) due to user graesj1 overridding Payment Estimate Exception 32 on the current Payment Estimate.
				14	Sep 2, 2020	SYSTEM	(\$2,240.00)	
				14	Sep 2, 2020	SYSTEM	\$2,240.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0057) due to user graesj1 overridding Payment Estimate Exception 33 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1800 -	Total						\$8,034.97	
1810	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Construction Stockpile		14	Sep 2, 2020	SYSTEM	\$7,250.10	Payment Estimate Item Adjustment generated Stockpile Transaction
				17	Oct 19, 2020	SYSTEM	(\$760.09)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$6,490.01	
	Construction Stockpile - Total						\$6,490.01	
	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Material		13	Aug 17, 2020	SYSTEM	(\$2,100.00)	
				13	Aug 17, 2020	SYSTEM	\$2,100.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0045) due to user graesj1 overridding Payment Estimate Exception 33 on the current Payment Estimate.
				14	Sep 2, 2020	SYSTEM	(\$2,100.00)	
				14	Sep 2, 2020	SYSTEM	\$2,100.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0058) due to user graesj1 overridding Payment Estimate Exception 34 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1810 -	Total						\$6,490.01	
1820	SH-FLAT SHEET	Construction Stockpile		14	Sep 2, 2020	SYSTEM	\$6,643.90	Payment Estimate Item Adjustment generated Stockpile Transaction
				17	Oct 19, 2020	SYSTEM	(\$741.37)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$5,902.53	
	Construction Stockpile - Total						\$5,902.53	
	SH-FLAT SHEET	Material		13	Aug 17, 2020	SYSTEM	(\$330.75)	
				13	Aug 17, 2020	SYSTEM	\$330.75	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0046) due to user graesj 1 overridding Payment Estimate Exception 34 on the current Payment Estimate.
			- Total					
							\$0.00	
	Material - Total						\$0.00 \$0.00	
1820 -								
<b>1820</b> -		Construction Stockpile		15	Sep 16, 2020	SYSTEM	\$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	Total			15 17		SYSTEM SYSTEM	\$0.00 \$5,902.53	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction
	Total		- Total		2020 Oct 19,		\$0.00 \$5,902.53 \$26,678.64	
	Total		- Total		2020 Oct 19,		\$0.00 \$5,902.53 \$26,678.64 (\$743.16)	
1830	Total ST-STRUCTURAL		- Total		2020 Oct 19,		\$0.00 \$5,902.53 \$26,678.64 (\$743.16) \$25,935.48	
1830	Total ST-STRUCTURAL Construction Stockpile - Total		- Total		2020 Oct 19,		\$0.00 \$5,902.53 \$26,678.64 (\$743.16) \$25,935.48	
1830 -	Total ST-STRUCTURAL Construction Stockpile - Total Total	Stockpile	- Total	17	2020 Oct 19, 2020 Sep 2,	SYSTEM	\$0.00 \$5,902.53 \$26,678.64 (\$743.16) \$25,935.48 \$25,935.48	Payment Estimate Item Adjustment generated Stockpile Transaction
1830 -	Total ST-STRUCTURAL Construction Stockpile - Total Total	Stockpile	- Total	17	2020 Oct 19, 2020 Sep 2, 2020 Oct 19,	SYSTEM	\$0.00 \$5,902.53 \$26,678.64 (\$743.16) \$25,935.48 \$25,935.48 \$25,935.48	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction
1830 -	Total ST-STRUCTURAL Construction Stockpile - Total Total	Stockpile		17	2020 Oct 19, 2020 Sep 2, 2020 Oct 19,	SYSTEM	\$0.00 \$5,902.53 \$26,678.64 (\$743.16) \$25,935.48 \$25,935.48 \$25,935.48 \$5,261.97 (\$759.51)	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction
1830 -	Total  ST-STRUCTURAL  Construction Stockpile - Total  Total  SHF-FLAT SHEET FLUORESCENT	Stockpile  Construction Stockpile		17	2020 Oct 19, 2020 Sep 2, 2020 Oct 19,	SYSTEM	\$0.00 \$5,902.53 \$26,678.64 (\$743.16) \$25,935.48 \$25,935.48 \$5,261.97 (\$759.51)	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction

Revision 4/1/2020 Page 42 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1840	SHF-FLAT SHEET FLUORESCENT	Material	. ,,,,		2020			
				13	Aug 17, 2020	SYSTEM	\$909.56	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0047) due to user graesj1 overridding Payment Estimate Exception 35 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1840 -	Total						\$4,502.46	
1970	BRIDGE APPROACH SLAB (MAJOR ROAD)	Material		16	Oct 1, 2020	SYSTEM	(\$42,960.00)	
				16	Oct 1, 2020	SYSTEM	\$42,960.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user graesj1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
				17	Oct 19, 2020	SYSTEM	(\$42,960.00)	
				17	Oct 19, 2020	SYSTEM	\$42,960.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0030) due to user graesj1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
				18	Nov 2, 2020	SYSTEM	(\$42,960.00)	
				18	Nov 2, 2020	SYSTEM	\$42,960.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$42,960.00)	
				19	Nov 16, 2020	SYSTEM	\$42,960.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user graesj1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
				20	Dec 1, 2020	SYSTEM	(\$42,960.00)	
				20	Dec 2, 2020	SYSTEM	\$42,960.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 22 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1970 -	Total						\$0.00	
1980	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	Construction Stockpile		7	May 18, 2020	SYSTEM	\$12,330.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				11	Jul 16, 2020	SYSTEM	(\$6,294.81)	Payment Estimate Item Adjustment generated Stockpile Transaction
				12	Aug 4, 2020	SYSTEM	(\$5,692.69)	Payment Estimate Item Adjustment generated Stockpile Transaction
				13	Aug 17, 2020	SYSTEM	(\$171.25)	Payment Estimate Item Adjustment generated Stockpile Transaction
				20	Dec 1, 2020	SYSTEM	(\$171.25)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
1980 -						2)12==	\$0.00	
1985	PRE-BORE FOR PILING	Overrun	Overrun		Aug 4, 2020	SYSTEM	(\$6,270.00)	Haitariaa haaad ay ayaaraad ayaaraa adda ahaa ahaa ahaa ahaa ahaa ahaa
				18	Nov 2, 2020	STOLEM	\$6,270.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',190.00000 - 190.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
1985 -	Total						\$0.00	
1990	PILE POINT REINFORCEMENT	Construction Stockpile		7	May 18, 2020	SYSTEM	\$1,200.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				11	Jul 16,	SYSTEM	(\$600.00)	Payment Estimate Item Adjustment generated Stockpile Transaction

Revision 4/1/2020 Page 43 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
1990	PILE POINT REINFORCEMENT	Construction Stockpile			2020					
		Otockpile		12	Aug 4, 2020	SYSTEM	(\$600.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
			- Total				\$0.00			
	Construction Stockpile - Total						\$0.00			
1990 -	Total						\$0.00			
2000	CLASS B CONCRETE (SUBSTRUCTURE)	Material		13	Aug 17, 2020	SYSTEM	(\$28,160.00)			
				13	Aug 17, 2020	SYSTEM	\$28,160.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0048) due to user graesj1 overridding Payment Estimate Exception 21 on the current Payment Estimate.		
				14	Sep 2, 2020	SYSTEM	(\$28,160.00)			
				14	Sep 2, 2020	SYSTEM	\$28,160.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0059) due to user graesj1 overridding Payment Estimate Exception 19 on the current Payment Estimate.		
				15	Sep 16, 2020	SYSTEM	(\$28,160.00)			
				15	Sep 16, 2020	SYSTEM	\$28,160.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0034) due to user graesj1 overridding Payment Estimate Exception 28 on the current Payment Estimate.		
					16	Oct 1, 2020	SYSTEM	(\$28,160.00)		
				16	Oct 1, 2020	SYSTEM	\$28,160.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0032) due to user graesj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.		
						17	Oct 19, 2020	SYSTEM	(\$28,160.00)	
					17	Oct 19, 2020	SYSTEM	\$28,160.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0062) due to user graesj1 overridding Payment Estimate Exception 53 on the current Payment Estimate.	
					18	Nov 2, 2020	SYSTEM	(\$28,160.00)		
				18	Nov 2, 2020	SYSTEM	\$28,160.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0035) due to user graesj1 overridding Payment Estimate Exception 35 on the current Payment Estimate.		
				19	Nov 16, 2020	SYSTEM	(\$28,160.00)			
				19	Nov 16, 2020	SYSTEM	\$28,160.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0033) due to user graesj1 overridding Payment Estimate Exception 39 on the current Payment Estimate.		
			- Total				\$0.00			
	Material - Total						\$0.00			
2000 - 2010	Total  SLAB ON CONCRETE I-GIRDER	Material		16	Oct 1,	SYSTEM	\$0.00 (\$194,750.00)			
					2020		,	This distance of the test of the critical content of the content o		
				16	Oct 1, 2020	SYSTEM	\$194,750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user graesj1 overridding Payment Estimate Exception 39 on the current Payment Estimate.		
				17	Oct 19, 2020	SYSTEM	(\$194,750.00)			
				17	Oct 19, 2020	SYSTEM	\$194,750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0031) due to user graesj1 overridding Payment Estimate Exception 61 on the current Payment Estimate.		
				18	Nov 2, 2020	SYSTEM	(\$194,750.00)			
				18	Nov 2, 2020	SYSTEM	\$194,750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user graesj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.		

Revision 4/1/2020 Page 44 of 48



Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks				
2010	SLAB ON CONCRETE I-GIRDER	Material	Туре	19	Nov 16, 2020	SYSTEM	(\$194,750.00)					
				19	Nov 16, 2020	SYSTEM	\$194,750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 40 on the current Payment Estimate.				
				20	Dec 1, 2020	SYSTEM	(\$8,386.55)					
				20	Dec 2, 2020	SYSTEM	\$8,386.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user graesj1 overridding Payment Estimate Exception 37 on the current Payment Estimate.				
			- Total				\$0.00					
	Material - Total						\$0.00					
2010 -	Total						\$0.00					
2020	TYPE D BARRIER	Material		17	Oct 19, 2020	SYSTEM	(\$34,200.00)					
				17	Oct 19, 2020	SYSTEM	\$34,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0032) due to user graesj1 overridding Payment Estimate Exception 66 on the current Payment Estimate.				
				18	Nov 2, 2020	SYSTEM	(\$34,200.00)					
				18	Nov 2, 2020	SYSTEM	\$34,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user graesj1 overridding Payment Estimate Exception 43 on the current Payment Estimate.				
				19	Nov 16, 2020	SYSTEM	(\$34,200.00)					
							19	Nov 16, 2020	SYSTEM	\$34,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user graesj1 overridding Payment Estimate Exception 47 on the current Payment Estimate.	
				20	Dec 2, 2020	SYSTEM	\$34,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user graesj1 overridding Payment Estimate Exception 38 on the current Payment Estimate.				
			- Total				\$0.00					
	Material - Total						\$0.00					
<b>2020</b> - 2040	CONDUIT SYSTEM ON	Material		15	Sep 16,	SYSTEM	\$0.00 (\$4,669.00)					
	STRUCTURE			15	2020 Sep 16, 2020	SYSTEM	\$4,669.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0035) due to user graesj1 overridding Payment Estimate Exception 31 on the current Payment Estimate.				
				16	Oct 1, 2020	SYSTEM	(\$4,669.00)					
				16	Oct 1, 2020	SYSTEM	\$4,669.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0033) due to user graesj1 overridding Payment Estimate Exception 49 on the current Payment Estimate.				
				17	Oct 19, 2020	SYSTEM	(\$4,669.00)					
				17	Oct 19, 2020	SYSTEM	\$4,669.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0063) due to user graesj1 overridding Payment Estimate Exception 69 on the current Payment Estimate.				
				18	Nov 2, 2020	SYSTEM	(\$4,669.00)					
				18	Nov 2, 2020	SYSTEM	\$4,669.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0036) due to user graesj1 overridding Payment Estimate Exception 44 on the current Payment Estimate.				
			- Total				\$0.00					
	Material - Total						\$0.00					

Revision 4/1/2020 Page 45 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
2040 -	Total		, , , , , , , , , , , , , , , , , , ,				\$0.00	
2060	VERTICAL DRAIN AT END BENTS	Material		16	Oct 1, 2020	SYSTEM	(\$4,300.00)	
				16	Oct 1, 2020	SYSTEM	\$4,300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0034) due to user graesj1 overridding Payment Estimate Exception 50 on the current Payment Estimate.
				17	Oct 19, 2020	SYSTEM	(\$4,300.00)	
				17	Oct 19, 2020	SYSTEM	\$4,300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0064) due to user graesj1 overridding Payment Estimate Exception 70 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
2060 -	Total						\$0.00	
2110	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	Construction Stockpile		7	May 18, 2020	SYSTEM	\$12,330.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				19	Nov 16, 2020	SYSTEM	(\$12,330.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
2110 -	Total						\$0.00	
2120	PILE POINT REINFORCEMENT	Construction Stockpile		7	May 18, 2020	SYSTEM	\$1,200.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		Otookpiic		19	Nov 16, 2020	SYSTEM	(\$1,200.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total		. Otta				\$0.00	
2120 -							\$0.00	
2151	PRE-BORE FOR PILING	Overrun	Overrun	19	Nov 16, 2020	SYSTEM	(\$5,130.00)	
				20	Dec 1, 2020	SYSTEM	\$5,130.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',190.00000 - 190.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
2151 -	Total						\$0.00	
2250	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	Construction Stockpile		10	Jul 1, 2020	SYSTEM	\$89,306.62	Payment Estimate Item Adjustment generated Stockpile Transaction
				12	Aug 4, 2020	SYSTEM	(\$23,841.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				13	Aug 17, 2020	SYSTEM	(\$20,803.48)	Payment Estimate Item Adjustment generated Stockpile Transaction
				20	Dec 1, 2020	SYSTEM	(\$44,662.14)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	Material		12	Aug 4, 2020	SYSTEM	(\$91,800.00)	
				12	Aug 4, 2020	SYSTEM	\$91,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0021) due to user graesj1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
				13	Aug 17, 2020	SYSTEM	(\$171,904.00)	
				13	Aug 17, 2020	SYSTEM	\$171,904.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0049) due to user graesj1 overridding Payment Estimate Exception 24 on the current Payment Estimate.
				14	Sep 2, 2020	SYSTEM	(\$171,904.00)	
				14	Sep 2,	SYSTEM	\$171,904.00	This adjustment offsets the original system-generated Overrun

Revision 4/1/2020 Page 46 of 48



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks																													
		Туре	Adjustment Type	Number	Date	Ву																															
2250	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	Material			2020			Payment Estimate Item Adjustment (0060) due to user graesj1 overridding Payment Estimate Exception 22 on the current Payment Estimate.																													
				15	Sep 16, 2020	SYSTEM	(\$171,904.00)																														
				15	Sep 16, 2020	SYSTEM	\$171,904.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0036) due to user graesj1 overridding Payment Estimate Exception 33 on the current Payment Estimate.																													
				16	Oct 1, 2020	SYSTEM	(\$171,904.00)																														
				16	Oct 1, 2020	SYSTEM	\$171,904.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0035) due to user graesj1 overridding Payment Estimate Exception 51 on the current Payment Estimate.																													
				17	Oct 19, 2020	SYSTEM	(\$171,904.00)																														
				17	Oct 19, 2020	SYSTEM	\$171,904.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0065) due to user graesj1 overridding Payment Estimate Exception 71 on the current Payment Estimate.																													
				18	Nov 2, 2020	SYSTEM	(\$171,904.00)																														
				18	Nov 2, 2020	SYSTEM	\$171,904.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0038) due to user graesj1 overridding Payment Estimate Exception 46 on the current Payment Estimate.																													
				19	Nov 16, 2020	SYSTEM	(\$171,904.00)																														
					19	Nov 16, 2020	SYSTEM	\$171,904.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0037) due to user graesj1 overridding Payment Estimate Exception 48 on the current Payment Estimate.																												
					20	Dec 1, 2020	SYSTEM	(\$343,876.00)																													
				20	Dec 2, 2020	SYSTEM	\$343,876.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user graesj1 overridding Payment Estimate Exception 39 on the current Payment Estimate.																													
	Metaviel Tetal		- Total				\$0.00																														
2250 -	Material - Total						\$0.00 \$0.00																														
2280	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	Construction Stockpile		10	Jul 1, 2020	SYSTEM	\$95,745.73	Payment Estimate Item Adjustment generated Stockpile Transaction																													
		·		12	Aug 4, 2020	SYSTEM	(\$23,834.91)	Payment Estimate Item Adjustment generated Stockpile Transaction																													
							13	Aug 17, 2020	SYSTEM	(\$24,011.47)	Payment Estimate Item Adjustment generated Stockpile Transaction																										
				20	Dec 1, 2020	SYSTEM	(\$28,743.14)	Payment Estimate Item Adjustment generated Stockpile Transaction																													
			- Total				\$19,156.21																														
	Construction Stockpile - Total						\$19,156.21																														
	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	Material		12	Aug 4, 2020	SYSTEM	(\$91,800.00)																														
				12	Aug 4, 2020	SYSTEM	\$91,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0023) due to user graesj1 overridding Payment Estimate Exception 21 on the current Payment Estimate.																													
				13	Aug 17, 2020	SYSTEM	(\$184,280.00)																														
				13	Aug 17, 2020	SYSTEM	\$184,280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0050) due to user graesj1 overridding Payment Estimate Exception 26 on the current Payment Estimate.																													
																											1	1				1	14	Sep 2, 2020	SYSTEM	(\$184,280.00)	
				14	Sep 2, 2020	SYSTEM	\$184,280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0061) due to user graesj1 overridding Payment Estimate Exception 24 on the current Payment																													

Revision 4/1/2020 Page 47 of 48



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
2280	MECHANICALLY STABILIZED	Material						Estimate.
	EARTH WALL SYSTEMS			15	Sep 16, 2020	SYSTEM	(\$184,280.00)	
				15	Sep 16, 2020	SYSTEM	\$184,280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0037) due to user graesj1 overridding Payment Estimate Exception 32 on the current Payment Estimate.
				16	Oct 1, 2020	SYSTEM	(\$184,280.00)	
				16	Oct 1, 2020	SYSTEM	\$184,280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0036) due to user graesj1 overridding Payment Estimate Exception 52 on the current Payment Estimate.
				17	Oct 19, 2020	SYSTEM	(\$184,280.00)	
				17	Oct 19, 2020	SYSTEM	\$184,280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0066) due to user graesj1 overridding Payment Estimate Exception 72 on the current Payment Estimate.
					18	Nov 2, 2020	SYSTEM	(\$184,280.00)
				18	Nov 2, 2020	SYSTEM	\$184,280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0039) due to user graesj1 overridding Payment Estimate Exception 45 on the current Payment Estimate.
				19	Nov 16, 2020	SYSTEM	(\$184,280.00)	
				19	Nov 16, 2020	SYSTEM	\$184,280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0038) due to user graesj1 overridding Payment Estimate Exception 49 on the current Payment Estimate.
				20	Dec 1, 2020	SYSTEM	(\$294,984.00)	
				20	Dec 2, 2020	SYSTEM	\$294,984.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0033) due to user graesj1 overridding Payment Estimate Exception 40 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
2280 -	Total						\$19,156.21	
Overa	II - Total						\$35,914.27	

Revision 4/1/2020 Page 48 of 48